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2  :	�x [q0� ��/0��� �:��� K
�ExC� *������ T��J UB. -����� *k�
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6���78� -'9 0 :��;<�� ='��� -/ 6�>�?� ����� -'�� �@�A �-*( 6���<4 . ='C DE�( 5�� 6�>�?� FG'� ��A�H� �C��� ��<I� JE$(K
 L/-��� M� �@�A :��;<�� -'��?��<� . N�O(" ��A�H� �C��� P>QR�� D�?� #$% 6S9����� ��TU V��R4 =$��(K)<RX�� <�!� Y4 &G$?� )� 3.(  

 ������2 � )% 1R4 5�� 6���<��� 0 N��-�% [-	��� 1����( � 3 GHz . ����� -'�� �@�A �-*( 5�� 6���<��� 0 N�'��\ 1����( -/K
-']$� :��;<�� ='��� -/ 6�>�?�.  

 ������3 � &G$?� 0 Y���-�� �R(<��� &�'�4 )*+ 61I" )� ��;�	��� 6�HK�X?� 0  6����^� K" >QR�� D�?� #$% 6S9����� V��R4 
19�����.  
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 R�Z@�� Kq�>� ����� \
�0� �� c����B� %!�&� :��.� ��]�(LEO)���� ����� �"j<J	  I��� �!�H oPB! �!i� ��+S
 ���
� 1��� |J 7 \
����I�&� [;0� 	J �@�&� ��q�J ���!�H	 \
���� �23 �l���! `�� \g����� �k��v  . ?� *'B�� �23 K�+!	

 \
���� O�:J -�v�� ��$��� ��:�&�� �A��/LEO�!�	+��� ���
�ExC� G�����	  .S! �8 V���. \"&�� �23 �0S��	 K�
 	J K
�0^. _60� UB. ��� aD
��< *����� _60���P�� %]
 [� �0��!.  

�	� }EZc���� 2����m ���m��x� o�j< 7 |+
�: ���� UB. \
���� �v+x ��:�&� :��.C *'B�� �23 ��  . 123 e0H	
 -+���� 7 ��:�&��3=�>� UB. ����m ���m��x� o�j< ?�  . -+���� 7 :+!	4�!	�$ �9  ���� ?� ���@��� a�k���	 \
���� 

=�>� u�� UB. ���<. -+���� =+&
	 5 V����� V����&� 5�2v	 \
��B� �!����� �0f �. ��+t��	 W��
��� �!�	$ %��&
 
 [�! \
�� �!i� ����g� �0k=�>� �� �@�&� ���<.  

 =�>� �3Pv+� `�� �@����� �!	+S�� ���m��xC� o�j< \"&��!	(r, θ, λ) ��x *'B�� �23 7 r �� V�����.� �k���� K3 
	 ��E��θ	 G�"^�� s���� �� V�����.� �!	�P�� �k���� K3 λs���� ?� ���< �!	�P�� K3 .  
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��� �

�� � ��
���  

|����� |0���� 7 a&;0� �!�H V�	J K]�@! I������ ��,C� 7 \
���� [;0� �!�H ��]� .� *B&�! �"�k	 |	+S�� ����� 7 c�
G����v �!+B�v �!���� ��"B&� [��J ��B"&�� 123 sB��
 I=�>� e0x:  

Rs:   �k���� |J I����� +�; NE< �� �B/���� =�>� Pv+�	\
����  

  I:   \��� �!	�$)rad(K
�0���� |0����	 |����� |0���� �� �&;�0�� �!	�P�� |J  . �� T��
 K3	0 ?� π �0S
	 
J �� \;2/π�6�   e�"^�� ?� Y0@b� �� K
�0���� |0���� [� [,���! ���@. �+^�� 0t V�lQ0� \
���� ��v

 �� UB.J	2/π�6�  ��v \
���� e�"^�� ?� Y0@b� �� K
�0���� |0���� [� [,���! ���@. Y+]�� 0t V�lQ0�  

Ωs:  �� �k���� �!	�P)rad(� �� K
�0���� |0���� :����� UB.  ��x [,����� |J -�.�E�� -��&�� [;0� ?� +�/ [Q+�
|0��� [,���! e�"^�� ?� Y0@b� �� K
�0���� |0���� [� \
����  

M:   6	2^�� ��0��)rad( [;0� ?� -�.�E�� -��&�� �� T��! |2�� KB
���� |����� |0���� 7 |	�P�� T0��� |J 
\
����.  
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�� ���� ���� ������
 �) ����
 ���
1 .( ����
 !"# $�%&�
 '�* +���, -�/0&� 1&���θs 2"� �3:  
cos θs = sin M sin I. +4 �5 θ �6�7�
 8 9�� �, )0, π(:  

θs = arccos (sin M sin I )      (1)  
 �����1  

������ ���	� 
 ���
�� ������ �����  

  

�* +���, -/; 
<= 1&�� >�"	�? @A�B�� ����
 !"# $�%&�
 'M >cos M = sin θs cos λ0 . ��9�CD
 E�CF�(2) G�, λ0 �3 
H"I J�D
 �*4) (θ, 2π.  

(2) 




<−
≥

=
0sincosfor)sin/(cosarccos2

0sincosfor)sin/(cosarccos
0

MIM

MIM

s

s

θπ
θ

λ  

3  ��������	
� �
������ �� �  

KL M �NO��3 ��PA4 ���	
��= Q= ���	
���
 
�� R�S&F +4 ��� .T�,�U +
A����� $��F EAV
 +4 Q= T
���� ��# rad 2π 
 823� �#�� 56� ���,9 4,09 2#�7�
 �F�W�
 �0��� T�,�U R�0�
 XY +ZO >����	 λsR9�C� :  

(3) λs  =  λ0  +  Ωs  –  ∆€E t    

[��: 

 ∆E = 7,292115856 × 1–5 rad/s. 
 \,�D �3���
 ]3^�
 _6��
 `a �%�O�X�W3D
 !"# �F�W�
 \,�3 b��I� A
�D
 \,�3 @�#
�3 2c/�� A
� . @��C�
 d�e

R�C5 T���L @A9�/3 ���
f @�#�B�
 9.964 (RE
 

/ RS)
3,5

 cos I  �*A9[�� $���
 8 RE =) km 6378,14 ( �0, _B� ��
 Xh
 �# EAV
2i
�&�M
.T
<= @�#�B�
 @��C�
 \,�3 Kc&��  �3^�
 \3 j�&�
:  

Ωs  =  Ω0  –  ∆€L t 

[��:  

∆L  =  – 2,0183 × 10– 6 (RE 

/ Rs)
3,5 cos I 
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 ��9�CD
 k/BF�)3(T
<= :  
(4) λs = λ0 + Ω0 – (∆L + ∆E ) t 

 20C��
� dA
�D
 A�)V
9��A
�D
 A
� ( �0, _B�� d�i
9 A
�3 !"#  �F�W"�Rs�c�B�
 8  Ts = 9,952004586 × 10
−

 

3
 Rs

1,5 
 [��Rs  2"F�W�
 A
�D
 �0, _B� ��)km(T
<= 1&��� >:  

(5) M  =  M0  +  ∆€M t    

[�� ∆M = 2π / Ts.  

4  ��	
� ��� �� ���� ������ ��
���  

����I ���	
��= Q= R�0�
 XY� E�C�
 Xh �������
 ���	
���
 �3 ��PAV
 �0l
 ���	
��= R�S&F +4 TM�4 'm . 
<=�
 +�ILT� E�C�
 XY �� LoT n&/*�D
 n&��
^�
 !"# R�Bo
 ��%�O ��PAV
 �0S%"� R�0�
 XY �� )��*A����( >

 �0S%"� ������
 ���	
���
�(rad) >θT� λTn&���&�
 n&,pC�
 �3 :   

(6) 




+
−

=
)90()180/(

)90()180/(

T

T

T

L

L

π
π

θ  

(7) 




=
)–360()180/(

)()180/(

T

T

T

Lo

Lo

π
π

λ  

  

 Q= ��PAV
 �0l
 �3 R�0�
 XY 8 q�7�
 R9�C��W�
 X�W3 �F�EAV
 k0� !"# λDrs
 T�3�t >: 

(8) λD = λS – λT 

O�WD
 ���� �X� ��PAV
 �0l
 n�  X�W3�F�W�
 EAV
 k0� !"# >���"� ���0, _B� ��
�
f 8  'W� '�* +���,
 $�%&�
)Q= ���
  ����
2 (rs�I:  

(9)  X = arccos (cos θT cos θs + sin θT sin θs cos λD) 

�����2 
  

 �� ������ 	
� �
�� ������ ��
�� ���� 	����� ���� ��� ����!���"#��� �  

  

  

Q= �/W����LTTM�u E�C�
 XY  
 Q= �/W����LT

 

 XYE�C�
 T����*  

Q= �/W����LoTT�,�U R�0�
 XY  
Q= �/W����LoTR�0�
 XY T���L 

������ ��	��λD

θT 

Z 

 
����
�
X

�	��������  

1108-02

θs
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� +�� X�W3 �F�W�
 EAV
 k0� !"# v��I 
<= >��PAV
 �0l
 q�Usin λD   v��I 
<= �w�L� �7B�
 �3 !"#4λD sin 
�7B�
 �3 �,4 .�F T
<= 1&� ���
f v%W�
Z� �0l
 n� X�W3 �F�W�
 EAV
 k0� !"# !"# $�%&�
 '�* +���, -�/0&� 

 ����
θs����
 8   2:  

 (10)  














<λ








θ
θ−θ−π

≥λ








θ
θ−θ

=

0sinfor
sinsin

coscoscos
arccos2

0sinfor
sinsin

coscoscos
arccos

D

T

Ts

D

T

Ts

X

X

X

X

Z  

 

5  �������� ��	
� �� �
�� ����	�� ������� ������ ������ �����  

 x�7FAM
 ���
f !"# R�Bo
 ���H ��PAV
 �0l
 -O4 q�O �F�W"� ) R9�CF -OV
 ���
f +4 E
�&O��0�*A9  ( Q= x�*����
 ����
3:  

(11) 






 −=
X

RRX
H

sE

sin

/cos
arctan  

  

 �����3  

��������� 	
��
� 	���� ��
� ���� ��� ��  

H

X

RE 

  

v%W�
 
�e
 8 9�W3 ��PAV
 �0S%"� R�/�&�M
 2i
�� +4 E�&7� ZT  y"/F x�7FA
 ���
f \3 HT rad2�OV
 d�&WD
 q�O  .
 ���
^�
 �O�WD
 z�W� ����ϕ�PAV
 �0l
 2i
�� ��W�i��
 �3^o
 n�  ^I�D
 ������
 ���	
���
 $��� R�%C&��� �F�W�
� �

 ����
 kP�� �%I v%W�
 
�e
 8 
A�{ +��� d��
� ��PAV
 �0l
 !"#4 . �O�WD
 !"# $�%&�
 '�* +���, -�/0&� 1&���
 ���
^�
ϕ2"� �3 ��/��|
 :  

(12) ϕ  =  arc cos (sin HT  sin H  +  cos HT  cos H  cos (Z  –  ZT)) 

1108-03 

�����

 ���	�
� 

�
������	�� 

������
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 �����4  

�� 	������ ������ ���� ���� !"#�  
������� 	
��
� 	��� 	��$  

  

 �3 �M9�CD
 k%WF(1) Q= (12) �F�W�
 9�*�� ��PAV
 �0S%"� �Y
�&�
 �N�� @�I�S5 LEO . >X�W/&"� �����3= �*�F�

 q�O �F
�W�
 �}//WF ~�
 �pY
�&�
 J�� @9�# A�/&#M
 8 �Y�� M Tp�3-OV . ��9�C%"� T�C/F�)11( q�O �F�W�
 +��� 

�*4 �3 -OV
:  

(13) cos X  >  RE / Rs  =  γ 

 +�&�9�CD
 v"%C&�
 
<=�(13)� (9) �%�, �*4 �3 
�� �����
 @�i
9 �%P \�F ~�
 R�0�
 ��0Y �3 J�D K/CF �L��6 ��� 
 ���C3Xh E�C�
 X�WD �F�� EAV
 k0� !"#<����
 X��&D �4 . �M9�CD
 G���F T
<= 'm� (10)� (11)� (12) X�O 

T��/W3 ������ ��� ���U '*�5.  

����� 2 

 ������� ��		�� 
�� ��
����� �����LEO  

�  �������������������� ���������� ��!�"��   

1  �����  

 -S"D
 8 �P��CD
 ��P����
 ��,pC�
 �7�� z���� 13���� -S"D
 
�� _B�1 . ��"� @
9�I -S"D
 
�� �%C&W� +4 ����
 �F
�W�
 \3 _�0�
 �
^*4 G���&F ~�
� @�I�S%"� �CP�h
 ��"	�%&�
 d��9
��
 ���D
 ���/U 8 �pY
�&�
 `S7F �*4 �3

LEO �# ��F ~�
 ��,�0��
 8 �c�F +4 ��%D
 �F
�W�
 ��t ~�
 3 GHz . �6�h
 �"�3V
 �3 9�C� E�# 9���
���W��}�i�&� \3 G���&�
 �����A.  

1108-04����� ����� ���


�	� ��� 
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2  ����	
� �
�  

 �/I�I KW3 @�I�{ ��P��A ����0� 13����
 d�mLEOA
�D
 @A9�/3 A�	�� EAV
 +
A�9 @�#
�3 \3  . z�W� G&��
 ~�
 �pY
�&�
 y"/F �/I���
 �F�W� �I�� �I �# G��F1/2 d��9
��
 ���%"� �/�&W3 �I 8 �*A9  �%P �
KWD ^�I�F

��D
T��i
��# �#f�D
 d��9
��
 � . KW3 ��� �pY
�&�
 �O��I ���0C3 13����
 \%m�
 �
KW3 �3 ���	4 d��9
��
 ���D
@�I�l
 @�3 . ���� @A�B� KW3 �I �
94 ��"� ���F= �*4 �3 KW3 ��� -��03 j�%&�
 \�f�F Q= ���0CD
 
�� R

�"B7�3 .
 �����A��W�
 �"�34 1i�&� +A��F� ����
 8 @9A
��
 ��C*�D
 �
9V
 ��/"0&3 \3 ��� �}76� 9A
��1 ��6�&�
 �3 
ITU-R SF.357. ��6�&�
 ��&�F� ITU-R SF.357K��C3 �G���F T��C*�3  ��"	�%&�
 �%��V�� �6�h
 �pY
�&�
 �M�� 8 

X�O.  
1.2  ��	�
�  

����&�
 ��%"CD
 ���&�
 �c�%"� @�I�l
 k%WF:  
�  >99�&�
  
�   ����9
��
 �p��D
 �
KW3 ^I�D R�0�
� E�C�
 �0Y �&����
) ��0Y �%��&W3�NO��3(>  
�  d��9
��
 ���%"� R�/�&�M
 2i
�� 'WIv����
 >  
�  >�}"�"� 'm ~�
 d��9
��
 ���D
 �
KW3 9�#  
�   �F�W�
 A
�3 x�7FA
)�F�� ��� HW7�(>  
�  >��"F�W�
 ��A
�D
 ����&WD
 9�#  
�  C�
 R�;��&W3 ��� @�#�B�
 @��>  
�   A
�D
 ��3)�F�� ��� HW7�(>  
�  ��&W3 ��� �F
�W�
 9�#) ��&W3 ��� HW7�(>  
�   �O����
 ����pfd>��"F�� @K/I ��
�f �*4 �3   
�   �O����
 ����pfd>��"F�� @Kc6 ��
�f �*4 �3   
�   @�I�l
 @�3)$��V��(>  

����&�
 ���P�7�
 �<�%��
 2#
��:  
�  ���� ����	
���
�� ��
�� ���� ��
��� ������� :  

  50� @^7,  R�; KW32500 km��A�I v��3 -i
�; 'W� �
^7��
 ����e
 ���&�
 G&�� .  
   �/�&W%"� ��P���
 @A
�� �*A9 =1 750 K.  
   y��/�
 2���V
 q�0��
 8 ��A
�o
 ��P���
4 kHz 2� 25 pW@^7, ��� .  
  �6�&�
 'W� R�/�&�M
 2i
�� `i�BY �ITU-R F.699.  
  A�Wh
@) ���� >���cF ( A
��53 dB.  
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�  ���
��� ���� ��
� �! ����:  
  X�O d�i
9 A
�3.  
   8 @A�B{ @A���
 -O�F �O��I G���
���&�
�:  

 pfdlow  for  0 ≤ θ ≤ 5° 

 pfd = pfdlow + 0,05 (pfdhi – pfdlow) (θ – 5) for 5°< θ ≤ 25° 

 pfdhi  for 25° < θ ≤ 90° 

2.2  �
��  

 !%W� ���� ���0C3 _"3 �� 13����
 1F�� +=Leo.dat .� �O�&F d��9
A ���3 KW3 ��� ��3�"C3 v��	@�I�S%"� \�Y .
��3�"CD
 G��F�d��9
A ���3 ��� ��� ~�
 �pY
�&�
 ����W� ���3^�
 @�D
 Q= K�F [�� �e���
  . 13����
 20c��

 n� ��
�&F �pY
�F1 � 100 000 pW Q= �%W�3 50 y"/� E�C� T��C��&F Tp6�O 1 dB . 2i��"F ���� 13����
 _����
 
A
��3 KcF ��� �F�W�
 �}//� �pY
�&� �	�F KW3 ��� '���D
 �pY
�&�
 J�31/2A
�D
 �3 �*A9 .  

3  ������ �����  

 ��6�&�
 9��ITU-R SF.357*V
 @KB,� �"��; nF�&O 8 �pY
�&�
 9���  d��9
��
 ���D
 $��� �� E�C&� ~�
 >�
��"F�W�
 �&����
 �3�h
 \3 G���&��� �}"%C&W� ��,�0� 8 d�
f ����&� . 20Y 2"Y
9 R�%�&�
 ��U T���4 ��6�&�
 ��&�F�

 �"��0�
 nF�&7�
 8 @A�I�D
 9��o
 n� @A�B{ ���3f �
�&O ���	4 ���/�D
 �Y
�&�
 ����� ���S&��V
 @KB��
�* . +4 �5�
 1i�&� ��A��5 `S7&�
 ��# G���&"� ��A���� �I G���F ��� >�M�%&�p� \�f�F ��U !"# �Y
�&�
 ���0C3 'W� 13����


 ��6�&�
 8 �}�"# ��B�D
 9��o
 \3 13����
ITU-R SF.357.  
 ��6�&�
 8 �}�"# ��B�D
 �pY
�&�
 9��� 9�F�ITU-R SF.3573 ��V
 �^|
 8  �}�F ~�
 ��3�"C%"� �����/�
 $����
 �

 �3 R��UV
 85 Q= 9-S"D
 
�� �3  . d��9
��
 ���D
 KWD ��� ~�
 �pY
�&�
 �W�V
 �^|
 8 ����S�D
 ��t�
 v����
 G���&�
 ��A���� 8 T
�	�F ��IV
LEO/�&����
 �3�h
.  

 ����
 E�C� >Tp�35~�
 �pY
�&�
 A�	s Tp�"�  ��# �"3�C�
 �&����
 �3�h
 ��0{ �� E�C&F 1,5� 2,0� 2,5 GHz �%��� >
 �F
��� �&����
 �3�h�� ��"C&D
 ��%"CD
 \�� �&��	 !�/FLEO .����������A���W�
 �3 +�&#�%�  . ����S�D
 �#�%� ��t

 ���� �F�� �}//W� ~�
 �pY
�&�
 A�	� ����
 8 ��"7W�
LEO�
 �3�h
 8 �&��� . A�	� ����S�D
 �3 ������
 �#�%�
 ��t�
 �F
�� �3 ��I 9�# 9�*�� �/��BD
 �pY
�&�
LEOT�3�9 T��i�3 �F�W�
 +��� [�� ��
� dA
�3 �&W3 8  . $����
 �C��

 2"F�W�
LEO��A��D
 
�� GipD
 \*�D
 T�3�9 2i�3 ��
� �F�� H�O +��� d��
 .  
 ����
 kP��6Kc&�
 A�	� ���
f �*4 �3 @A���
 -O�F �O��I� A
�D
 x�7FA
 8  @Kc6 R�6�  !"# ��� ~�
 �pY
�&�
 8


@A9�B�
� �&����
 �3�h ��
� �F�� �# LEO@�%&W3 ���A ���� 8 . +���S�D
 n/� >n���A���W�
 ���w -"C&� �%�O� 
 +�;��D
) @A���
 -O�F �O��I =144 dB(W/m

2
)) ( q�0� 84 kHzR�6��
 ��
�f \�� �*4 �3 ( d4 A
�D
 x�7FA
 +4 

800 km � 10 330 km�3�� �%"C3 ��� \,�&3 �34 ��� .  
]S�D
 n/�� ����
 8 �6
�&D
 6 �F
�W�
 R�%C&�
 +4 LEO �"3�C�
 ��0���
 $^S"�  !"# ��� >n#�7FAM
 ���� ��
 K/I ���� �3�
 �3�h
 �� E�C&F ~�
 �pY
�&�
 �����&���.  
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����
 n/�  7E�C�
 XY ��M�� �&����
 �3�h
 �� E�C&F ~�
 �pY
�&�
 A�	� ��
A9 1i�&� . �	p��
 ����S�D
 ��t� ���"C�

 ���� �F�� 9�*� d4 HW7� E
�&OM
 \3 >�7"&� E�# ��0Y �	p	 !"# �&����
 �3�h
 �� E�C&F ~�
 �pY
�&�
 \�f�F

T�3�9 2i�3 .+4 ��/��R��C3 �� Q= H���&F ~�
 ��C�f�&�
 ���� -"C&� �%�O �3�� �%"C3 �C� M E�C�
 XY .  

  

 �����5  

 ������� ��	
�� ���

���� ����� ������� ����  

km 800)� 50 ������ ���� 33 dB ���
�� !"#� °40�$�%�� &�  144-/154- = pfd dB(W/(m
2
 · MHz))(  

 

1108-05 

 1 

10 

2

5

2

5

2 

5 

2

5

2

5

2

5

10 
– 1 

10 10 
– 2 

10 – 310 

10 
– 4 

10 

10 10 – 5

2 5
1 10 10 

2
10 10 

3
10 10 

4 
10 10 

5
2 5 2 5 2 5 2 5

10 10 
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 �����6 

������� ��	
��
���� ���� ������ ����
�� �����   

)50 ������ ���! 40 �"#$ %� �&
' 2 GHz(  

  

 ����
 8 ��"7W�
 �	p��
 ����S�D
 �#�%� ��t7 ��9��4 �F
�� �# @A9�B�
� �7"&� E�# ��0Y 8 �pY
�&�
 ��C�f�F 
 ��D
 @���U ��
�f �
< �
A
�3 8 80)9�*A .( !"# T��*A�Y Tp%�&W3 ����S�D
 G�A +�I 
<= H��� ��� ���pD
 A�e�

 [�� �
9�B�
 A�{X=  0 �3�h
 �%��4 �3 ��i�3 �F
�W�
 ��pY +��F ~�
 ���3^�
 �/W��
 T�/���F ��t +4 ��� ���&��
 +ZO >
@A�I�D
 E�C�
 ��0Y 8 �&����
 .�� +4 ��� G,��
 
�� ��# +4 KL �F�� +��� 2�� �3fp�
 �F
�W�
 9�# T�/���F ���

A
�%&��� T��i�3 ���� .� 'F�&� !"# ��
A9 �
�*= ���,9 ����
 8 ����S�D
 G���7 �F
�W�
 �3 ��", 9�# 9�*� 2c/�� H�4 
�
 �p��%"� -��0D
 \�f�&�
 +4 ��/�� >�C7F�3 E�# ��0Y 8 @9�*�D
 �%��V�� �6�h
 @�%&WD
 @��P�� �C,
��
 ����9
�

 E�# XY 865K��� !"#4 �0�� 8 �
9�B�
 A�{ \3 \;��&� �*A9 .  

< 
i 

> 
< 

I 
�
��

��
�
� 
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 ������� pfd   =   –154/–144 dB(W/(m2 4 kHz)), ��	
��� =       800 km

 ������� pfd   =   –154/–144 dB(W/(m2 4 kHz)), ��	
��� =    10 300 km 

 ������� pfd   =   –144/–144 dB(W/(m2 4 kHz)), ��	
��� =        800 km 

 ������� pfd   =   –144/–144 dB(W/(m2 4 kHz)), ��	
��� =    10 300 km 

(pW0p) < i > 
������  
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 �����7  

�*������ (i)  pW +�,-�� "#$ .4 kHz  

������� 	
��
���
��� ����� �  ����� ����� ��  
)50 ������ ��� �!"#$ 33 dB �pfd = 154−/144− dB(W/(m2.4 kHz)) �2 GHz(  
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 �I +��� >��D
 @���U �
A
�3 8 �C,
� �F
�� $���� A
�3 �I 8 H�4 ��p� <= T��}��� ���pD
 
�� �3 -�S&�
 ����
 ��� �%��� >z��|
 8 �4 R�%��
 8 ��I4 E�# ��0Y 8 ��PAV
 \,
�D
 �3 ���3f @�&7� T��i�3 d�&WD
 8 �F��

*�D
 ��PAV
 ��0S%"� E�# ��0Y 8 @9� �0��&3���C3 �
A
�3 8 �^* d4 �3 ��i�3 +��F M4 ��7��3 �4 . +4 ��/��
 �F
�W�
LEO ��PAV
 �%���� �pY
�&�
 �3 T
��^3 '/WF +4 ��� ��7��D
� �0��&D
 E�C�
 ��0Y �3�h �"�%&WD
 

 >�C7F�3 E�# ��0Y 8 �C,
��
 <==A
�D
 8 �F
�W�
 �3 @K/I �/W� + ��0Y 8 @9�*�3 ��PA4 \,
�3 �3 ��i�3 +��F �

�C7F�3 E�#.  

 +p���
 kP�� >T
KY48� 9 +4 �%&� ~�
 �F
�W�
 ��/I�I �# @A9�B�
� �&����
 �3��"� ��� ~�
 �pY
�&�
 A�	� 
������ ��c�F �%��4 ���F . �3 �F
�W�
 +��F [�� n3����
 pI ^}m�3 Q= 6�3 �3 A
�%&��� ��i�3 V
 \, d��
 EA

H&3�Y �3�F .����
 `a� 8  G�F ��"F�� �/I�I ����6� ���i
9 ��A
�3 ����&W3 11��&W3 ��� TpF��  . ���
f +��F�

< 
i 

> 
≤ 

I
�
��

��
�
� 
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��� ��  °65 =

��� ��°40 = 

��� ��15 =  

(pW0p) < i > 
������  
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 @��
� ��D
) °5,86�*A9 ( HW7� 2"F�W�
 x�7FAM
�)km 780(����&WD
 \�%|  . ����
 n/��9 ~�
 �pY
�&�
 \�f�F 
3 _��&F �/I�I �}	�� +4 ��� �12 x�7FA
 !"# �%CF TpF�� 10 370 km . !"# �F
�W�
 xf�F�3  ��A
�3 ����&W3

 A
��5 �"B7�3120 y"/F ��3 ��
�f \3 �*A9 56 �&W3 �I �%��� >�*A9 4�F
�� .  

����� 8  

�� �*����pW (i) .  +�,-�� "#$ kHz 4  
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�
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pfd = –152/–142 dB(W/(m2 4 kHz)) 

��pfd = –152/–137 dB(W/(m2 4 kHz))

��pfd = –152/–132 dB(W/(m2 4 kHz)) 

(pW0p) < i > 
������  

66����� LEO/780km��� 	�
���  � �
������ 
���  
) ��� 
����86,5 
������ 
����� ������ �!" #
$%&  =33 dB #2 GHz '(*�� +
 #40
$%& ( 
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 �����9  

�������� pW (i)�  	
���� 
�� 4 kHz  

1108-09 
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pfd = –152/–142 dB(W/(m 2 ⋅  4 kHz)) 

pfd = –152/–137 dB(W/(m 2 ⋅ 4 kHz)) 

pfd = –152/–132 dB(W/(m 2 ⋅ 4 kHz)) 

 (pW0p) < i > �������   

  

4  ����  

 ������ ���� 	 �
����
 ����� ��� ���
��� ������ �� �����LEO �!"# �#$�% �!&' ()�*+�� ���, -�.�) /0 	 1�+2�)
345� �� ������# 6�*+��� ���$��� 7�� 8�9' 8:�� ���;+�� <� �
�= >�*� . @9$� A0������  -��� ��
�& �*��B 8'

 ���$��� �C�# 	 �+#�!�� �
@2�� ����D� >0�E @�@;+#LEO . ����' F
 ()�*+�� �� ������# ��%$.G H�I �*�*� �J��0
���K��� ��$�L���� MN�����+#�!��  . ��%$+�� L@,0ITU-R SF 357 OP@� �P�!& L0@� FQ0 	 ���+�� R' <"S ��4���
 

*+�� �9' <
 64@*�����K��� ��$�L���� MN���� F
 ()��+#�!��  . ��%$+�� R' �� ����� /H�I F
0ITU-R SF.357 �� T@
 

< 
i 

> 
< 

I
�
��

��
�
� 

 
 

12����� LEO/10 370km�� ��� 	�
��� 
������ 
���  
)��� 
����56
������ 
����� ������ �!" #
$%& =33dB#2GHz '(*�� +
 #40
$%& ( 
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 M�"�U�� F
 ()�*+�� 	 ����� @�@9 <
 �J!V W)���� <�P /345� �� ������# 6�*+��� ���$��� F
 ()�*+�� >0�E @�@,
 ��������LEO.  

 ��%$+�� ���N% XQ�+P� �I�ITU-R SF.357 <
 L0@Y L@� Z$) �J�P R$"� A ��� MA�D� [\ ���P ]�' �J�� @K /
 ���$���LEO�^�
 �� ���K��� ��$�L���� MN���� R_P /�+#�!�� �
@`� <
  �+#�!�� ����' F
 LL�+�� M�K�a� ()�*+� R' <"SLEO 

6��% b$%0 ���0c 	 ��U�� 64@*�� OP@� �P�!& M��$�# (";+�� �a��E .�0 <"S 6��& b$%0 ���0c �9' <
 ]�' ��d�' 0@�
 ����5� <� 64L�.�� ��U�� 64@*�� OP@� �P�!& L0@DLEO ���$��� ����' �9' <
 ������ ��$Q$�� M��$��� c0�e+� R' 

345� �� ������# 6�*+��� .9f 6�&�g� M�0L' b���+)�0 4$a+�� F�eU� h�+K� @K0 ��P�Q� M�)�4L i��9� j���0 k:= i��
M�)�4@��.  

 �����3  

���� �� ��	
��
 ����	� �� ������ ���� �� ������� �!�"�#� ��$% &'&(  

��
�)�� ��&*+� ��,-� �'�./ ��01� �2���	� 3  

1  �����  

 ���$) ���+�� ��� ��^�dl�� M�
@`�0 �+#�!�� �
@`� m# M�K�a��� ()�*+� ����
 L�@�� ���#LEOP��
 Wn / ��� 4�op� �
��Q45� ���K��� MN�*+��� i�L' ���$� 	 ���$��� k:= MA�)4� �Jo@, . 4�op� k:= (��*+� �*��B O;��� �:= h�+*�0

 b��*+)A� �^�$= m�
 R�"
 	 �J���� ��� MNG�@+�� �P�!& <� M��^�.�� L�@�_# -��� ��� q$)�D�# 6�&�g� 6@���r
k�s� 8' $t L@���M�=�sA� ��$�u <
 ��i�9 �"U�  . O;��� 	 6L4�$�� 4�@��# �*��+�� MAL���� 6�&�g� k:= ���+��01 

$��� ���+�
 �����) ��&$"# 0' @��0 ����# �
� -���0��� . m+���
 m+��& @�@, Z�90�v:  

x  P�!& �J�P c0�e+� ��� ���
��� ��$C�� ������ y����
 ��$) �G�@+�� �  

x  i�L5� ���$� 4���r i�l�f� j@� b��+��# �*��+�� 6L�����.  

 m��*l�� 	 ��.l+��# 6�&�g� �%��� L��020 3 6�*l�� 	 i�L5� ���$� >�at� M�4��� L��0 /O;��� �:= <
 4 4�U� ����# /
 6�*l�� 	56@�l�� ��9I$���� z^�+��� {�# �� .  

2  ��	�
��
 �������� �����
  

���i�.�� L�@�_# 6�&�g� -M�FK$
 �& <� 64L�.�� MNG�@+�� �)�4L bNG <
 MNG�@+�� <�  Na  FK�$�� <
 6@���+��
 {�# <� �Jd�#4�@�� 	 80��+��# .M�4�@�� |;�� MNG�@+�� }$�u 7�� b$.D� ���#0 N0  �%�`� 6@��.�� @*��� F


0 �~ 6@���+��i�$+)A� �G 7�� 80��+��# .@K �!&' �J�"� 6@�@� MA�� 	 ��9I$� �*�*D� 	 �*��a�� k:= R$"� A �
iN
 



16     �������ITU-R F.1108-4 

()�*+�� [\ ���P ��@��*� �K' 0'/345� -a) 7�� MNG�@+�� �U�� ��� �= ��5  . z^�+� |V �*�A M�)�4L 	 �����0
���^�@�� M�4�@�� ��Q�P F
 M�Q��+PA� k:=.  

� m��+Y m�Q$
 ���= R' -Q�00MNG�@+� Na×N0  <
@��0 ���) �9'.�e�+� ��J�
 85 W��.�� b��+�A� R$"�0  H�I 
 $=(N

a
 × N0)/1.  

 ��&$& �"U� ��� 6L@�+�� ���$��� ���� @��0 ���+�
��d�' �)�4@�� ��J) . ��&$"��P ���+��� ���$) ��$�u <
 1��+�
���P 6@���+
0 �*#�a+
 ��4�@
 M��$+�
 ��$�u 7�� 6�U+�
�"U# �J��# (�+�
  . <
 L@��� �l� �J�
 $+�
 �& ��U�0

 64$.# 6@���+�� ���$��� ���+�
4�@�� 7�� �J��# ���P . ��a�� 7�� b$.D� <"S0 ���+�
 ��@��*� �K' ()�*� 7��0 �!&'
 ���$��� ��$�u R$"� �
@�� M�I��0��+
 4�$B' .^�$+)A� F
 FB�*+� 4�@
 7�� ���) @9$� m� ]�' 8' ���= R_P /�

]�l� k�sA� 	 �^�$+)A� F
 FB�*+� ��4�@�� M��$+��� <
 $+�
 �& 7�� �N��).  

 R�& �I�0 /��*#�) 6L@g� M���"�� [\ ���P0Na /4�@
 �& 	 ���$��� L@�� -�;% 1��d
 $= Nspo R�&0 N0  $=
 ��4�@�� M��$+��� L@�� -�;% 1��d
Norb��&$"�� 	 //@� R_P �D� L$= ��&$"�� 6L�l��� MA (N0

 

/ Norb)(Na
 

/ Nspo).  

3  ���
���
 ����  

��@��*+�� �*��a��# 6L0@Y ���$��� <� 64L�.�� MA�)4f� R' 3�+l� : ���0c �9' <
 64@*�� OP@� �P�!"� �dl2�
 ��$�#
7��' }�l�4� ���0�� 7��' 64@K OP@� �P�!"#0 {l2��� @D� <
 �K' 345� 7�� }�l�4A� ��aG 6L��c F
 /Fl���� @D� <
 

}�l�4A� ��0�c ��A@# <�@D� <�:= m# . 6@�$��# ��= 64@*�� OP@� �P�!& <� ���0(dB(W/m2.MHz)).  

�^�$�� W�&0 GR (ϕ)  ��%$+�� ]��� X.� �
 $= �Q45� ��*+����ITU-R F.699 �9' <
  (�K LL��0 �aK0 W�& �!�
��.l�
 �G�@
 . ������ 7a��0 OP@� �P�!& �J���� ��� ���*+��� MNG�@+�� 64@K @�@, �9' <
 O��a+�� ��#�*�� ����l��
 ��0�c 	 64@*��ϕ�p�& :  

)(
4

2

ϕ
π

λ= Reff GA  

 |��λ �9$�� b$B $= (m).  

4   ��� ����!�
 ��"#$
 % ���
���
 !&$ ���'  

+�� �"U��# ��K4 j��� }�a*�� b��+�� <� ������ �����:  

(14) P0  =  C  [ ] , 10 

– DFM/10  +  10 

– TFM/10  +  10 – 

(C/I  –  CNC) / 10   

|��:  

      C:  MN%$��0 345�0 ����� M����r O��+� X#�o  

  DFM:   X+U�� $�`� <
 ���� �
�=(dB)  

  TFM:  4��D� i�Q$d�� ]���� 8:�� $�`� <
 ���� �
�= ��(dB)  

    C/I:   MNG�@+�� 64@*� �CP�"�� i�Q$d�� ���K �� $�G R0L 64�Ef� �P�!& ����(dB)  

  CNC:  ��
�D� �9$�� ���� ���K/i�L5� 4���
 �J�P 7���� ��� i�Q$d�� (dB).  
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��`� <
 ����D� �
�$= <
 7��' X+U�� $�`� <
 ���� �
�$= 6L�� �!�@D� ���K��� ����5� H� i�Q$d�� ]���� 8:�� $
<�, 	 �=0 ��4��D� . ��L���� 	 b05� -�a.�� 7���� A' MNG�@+��# �%�G q��)5 ��+� H�:�(14) . R' <"S ����#0

 M�4��+�A <"S /���*�� �P�!"�� <
 �K' m�
 ��*+�
 7�� 6L@Y �G�@+�� ����
 i�Q$d� �CP�"�� MNG�@+�� 64@K R$"�
��� ()�*+�� F
 ]�l� ��4��D� i�Q$d�� �o' �� MNG�@+�� R�# 4:D� 3��+PA� �G�@+�� M����
 6@� L$90 @�� �%�G0 �
�

64@*�� �l� .��@��# ��l�� R' �� �����0���
�D� �9$�� ���� m# MN�/��
�D� �9$�� ����0 $�`� R0L i�Q$d��/ i�Q$d��
 �9�D�(CNC):�� $�`� <
 ����D� �
�= $=  /��4��D� i�Q$d�� ]���� 8(TFM) ������� 6L����� R_P /P0 b��+�� 8' 

 �G�@+�� ������ 64@*�� ���� bL��� i�L5� ���$� c0�sI i�Q$d�� 64@K 7�� NT  >�$��# 1E�"�� 	 R��4@*�� ��*� |��W 
��a� 3�� 6@�0 �"� >�$��# 0' . ������ 6L����� k:= 80��� /�:"=0I/NT �@� 64@K �"� �+#�o MNGI . /3���� ����+�0

 6L����� k:= m��P0 i�L5� 	 ��$C
 ����# >�at�& ��d�' 0' i�L5� >�at�&.  

 �G�@� 64@K �G�@+�� W��
 z+�' �I�0Ii   �JU�� <
 i�9 bNGfi  >�atA� R_P /�JU�� <
 ��*�+�� i��95� i��o' �J�� �0
�
 �� Z��� 8:�� 	�Qf� i�L�� ������p�& 7a�� R' <"S �G�@+�� W�: 

T

ii
i

N

fI
P =∆ ,0  

 i�L�� ����� >�atA� 7a��(FDP) |�� ����+�� ��L����# q��)' ��$�u �� Z��� 8:�� i 8:�� <
��� <
 i��� �#�*� 
 �= MNG�@+�� 64@K ]�NG X��&Ii:  

(15) ∑∑ =∆=
T

ii
i

N

fI
PFDP ,0  

@+�� q��)' }$��� �a�� |���J�& �G� . ���.�� 7�� }$��� �"U�0Ii fi b��+�� F�c$+� �05� ��;�� 8��@*+�� �P�"�� 
 R�0 ��*+��� 	 �G�@+�� ������ 64@*��fi�
 h0��+� ���K �G�@+�� ������ 64@*�� ]�P :G�� 8:�� b��+�A� �=   m#Ii 

0Ii + ∆Ii.  

 i�L�� ����� >�atA� <� ��� R' ��d�' <"S0(FDP) $�`� <
 ����D� �
�= 	 64��G �"E 	 (FML) (dB) |��:  

(16) FML = 10 log (1 + FDP)  

 M�@�$# ��4��D� i�Q$d�� <
 7��' �G�@+� �a)$+�� ��$��� 7a�� ����#dB���.��# 10  log FDP.  

 ��L���� R' <
 (����#(14) }�a*�A� 4��"� @�@;+� �05� �94@��# X���+)� @K )+�� 	 �a`� b@�
 c0�e+� R' b��
M�+��� ��*+���� 3−10 × 1M���a*�A� F
 O#�a+� ���K��� ��$�L���� ����5� i�L' ���$� M�)��K (��
 <"� / . R' ��I� <"S0

 ��L���� ���+��(15) i�L�� ����� >�atN� ���*&  . R�+�L���� �a�� ����#(15)  0(16)5� >�atA ��$*��� L0@D�  <
 i�L
4�@*r �N!
 7��' �G�@� M��$) <� ������ 4�op� R�E <
 ��*� �r40 ��@+�
 �G�@� M��$) �9' dB 20  i�Q$d�� <


 ��L���� 	 �05� 64����� �J��d+� ��� X+U+�� 4�o� R5 /��4��D�14)( ��0�c [\ ���P $�`� 6�=�� R50 �
�= -�.� M'@# 
F�+� A' 7U\ /{l2�
 L040 ��L���� 	 ��d�� ����4 R$��K (14).  
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 �9' <
 �dl�0 0' Z@�� �.K �G�@+��# �*��+�� ������ 6@� 7�� |;�� R' /������� �G�@+�� M��$) <� �s���� 4�op� (��*�
 �G�@+��0 i�Q$d�� �4@K }$�u �� ���*+��� 64�E�� 64@*�� ����� ��&��+�� F�c$+�� �4@� R');��� ���� O6 ( ��� ����0

 M�)�4@��9�
iN
 �!&' R$"� �*��B L�@�� 7�� ������ ��$�L���� MA�.�N� .  

 W��+� R�# �T�& �"U# ����� M��$��� k:= X��& �I� �
 �P��
 	 <�"� ������� �G�@+�� M��$�# �*��+�� Z�G5� ������0
$�`� �� 4�*+PA� @�� ��%$�� i�aG' 	 i�L5� >�at�# .0 M�+��� 	 �a`� MA@�
 �!
 i�L5� ���$� ����
 6����
 j��� �r4

 �*�+��) ��%$+��ITU-R F.634 (��%$+�� j�"��# i�l��� �#$�a
 Z�G' ����
 0' ITU-T G.826) .( 4�o� <� �Q��+�� <"S0
�NBf� 7��  @, A 0' �l"� �r  0@D� 64L�� R$"� �
@�� �*P k:= �G�@+�� q��)'.  

� ��L���� R(15) Z�"�� �������� W&�$"�� ����r -��� ��5 MNG�@+�� R�U# M�)�4@�� F
 ��
�� �"U�� |�� <
 1�"+� 
A j' 6@�$
 X��& i�$) �*P . i�L�� ����� >�atA� �P�Q� <"S I� 6L@�+�� W&�$"�� 4�o� (��*� H�I �� �P�Q� �J��0

(FDP)�� �J�
 ��&$& �& <� z�����  >�atA� 7�� b$.;FDPW&��� 0' ��"�� .  

5   ������ ���	 
��
� 
���� ���FDP  

 7�� 4�U+�A� ]���� 8:�� O����� $�`� 4��"+# O��+� /�
 6�lK 7�� ���� ��K4 8$�L�4 ���� i�L5� ���$� R' 3�+l��
6�l*�� k:= 	 6L@�+
 M���
 .u ����' [\ ���P ��$*��� ��Q�l�� <�"� ��= M��$�r 6�J ����Q��l��"�� 0' ����P0 �

 <� �*� M�LL�+# ���� ��� ����5� �!
 �*�Q 6�lK M�I ����'3 GHz.  

 X��& �I�C @�� ���*+��� 64�Ef� ��$) �=  q���0 $�`�NT 0 ��4��D� i�Q$d�� ��$) �= k ������ ���@�� ���*�� �=C/NT 
�9��� i�L5� ���$� >�U# i�l��� �
cN��R$"� m� ¡$+�� <� jcN�� >�U�� 6����
 T0�� R_P /�:  

(17)  k
N

Cr

T

<  

|��:  

  r:  $�`� �
�� 

 =  

A / 10–10  

  A  :  $�`� O��dB).(  

 64@*�� �)$+
 F
 ��)$� i�Q$Q �l% �����*� ]� �G�@� @90 �I�0I m� ¡$+�� <� ��9��� i�L5� �l% R_P /1E�"�� 	 
R$"�:  

(18)  k
IN

Cr

T

<
+

 

R$"� m� T$+�� � 4����� R' -Q�00:  

(19) 






 +≤
C

I

C

N
kr

T  
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 �"U�� �U�10 @� �� �*a���  	 ¢P�"+�� j@� <
 ��
�� O*;+�� £ |�� ��L����(18) . �G�@+�� ������ 64@*�� X��& �I�0
 W�a+� ��9��� i�L5� T@= 6����
 R_P /�+#�o �� ����% �G�@+��0 $�2�� ¤p� 4��"+�� b��+�� R$"� R'�T�& 4@*# ) (�K

 �"U�� 	 �.l�� �G <
 �K'10 .( X��& �I� /�!&' �K@#0pr
 

(r)0 /$�`� �
��# �*��+�� b��+�A� �P�!& ���L �=  pI (I) �= 
�G�@+�� 64@*# �*��+�� b��+�A� �P�!& ���L/��*+�
 M������� k:= R' 3�l#0 /P  �JU�� <
 i��� R_ P0i ]�P ¡$+�� A 8:��

�p�& 7a�� ¥�D� ���$��� 4���
:  

(20)  rIprpIP

INCk

Iri

T

d)()(d

)()/(

00

0 ∫∫
+∞

=  

 �����10  

 ���������	
���� 
�	�� ��	� ����� ���   
 

0  

N  
T  

C  
k  

��� k /C  =

  

 ���K @�+�� /�
��� MA�D� (��
 [\ ���P0��L���� (20)`� 4��"� 7��  M���
 7�� 4�U+�A� �� Z��� 8:�� O����� $�
���*�� k:= (��*� ���� R' <"S0 6L@�+
 . ��%$+�� �U�0ITU-R P.530 $�`� j��� 	 $�`� �
�� R$& b��+�� R' �� 

 <
 �K' /O�����r F
 W)��+
 $= r .+#�o R$"� R' ����� $�`� �
��# �a����� b��+�A� �P�!& ���L R' ��� �¦�. 

(21)     pr
 

(r) = β           r << 1 

 |��β$�`� 4��"� �
��# ]l%0 <"S 8:�� W)��+�� X#�o $= / 4���
 ]�NG ¡$+�� A 8:�� �JU�� <
 i��� R_P �:"=0 
 b���+)�# L@;+� ()�D� i�L5� ��L����)21( 	 ��L���� 20).(  

(22)  )(0 avTi IN
C

k
P +β=  

�
�

��� 
��

�
� 	


�
�

*
�
 
r

 

1108-10 

������� ���	(W)I 

 * ���
�� ��
������� ���� ���
�� �� ����.



20     �������ITU-R F.1108-4 

 |��0Iav )$+
 $= 8' /�G�@+�� 64@K �  

(23)  ∫
∞

=
0

d)( IIIpI Iav  

 >�atA� R�FDP�G�@+�� L$90 W��# ��9��� i�L5� 4���
 �J�P ¡$+�� A ��� <
��� <
 ��$C�� ������ ������� 6L����� $=  .
 ���K X��& �I�0 ��L����)22( �= P0o  >�atA� <� ��� R' <"��P �G�@+�� q��� @��FDP :FDP = (P0i

 

/P0o) –1 8':  

 (24)  
T

av

N

I
FDP =  

 �
 8' bL��� ��L����(15)  

6  �������� ��	
� �
���  

6�&�;��� ��4��+GA� ���p� M�4���� <
 m�
 L@�� z^�+��� {�# 6�*l�� k:= 3��� . M�=�sA� {�# @�@, $= T@��0
 ��)�)5� OB����0��"U
 �!� ��� .� A� /3�+l�0 3�� �G 7�� F*� ��Q45� �ag� R' /H�I �"� L@, �I40 �94L 

 	 ��U�0 �A�§2,000 GHz k�aK ¨��� �^�$= F
 2,76 m k4�@*
 W�&0 33 dB L�E4� �� Z��� ��� M�4��`� R'0 
 �= M�9$��2 dB . ��%$+�� ��*�B0ITU-R F.759 @�� ��*+��� i�Q$d�� �
�� L@;+� 4 dB .�)4f� O#�a�0 �������� MA

 64@*�� OP@� �P�!& @�dB(W/(m2. MHz)) 130− �=4�@*
 }�l�4� ���0c �9' <
 5 4�@*r Fl���0 �K' 0' M�94L 0,5 dB 
 m# �
 �94L �"�50 M�94L 25 @D� 80��� �JP ���*�� k:= c0�s £ �I�0 /�94L dB(W/(m2. MHz)) 120− . �
'

© �JP ���$��� �� Z��� ��� MNG�@+�� ¨��� @���+# 6�+0,5 �9' <
 4�@�� b$� �94L 720 ���+�
 64$.# ��@���+
 ��4�@
 
b$��G i�$+)A� .  

 �"U�� m��011 4�@
 	 ���) <� 64L�.��0 �l�+© M$ª M�I M��^�$= �J��*+�� ��� �G�@+�� 64@*� ��&��+�� F�c$+�� 
 k4�@*
 }�l�4�# L@;+�800 km ¨��� ��
 ��0��#0 50�94L  . ������ 6@=�U
 ��@#' <"S A /L0@g� 4�@�� ��
 �� �����0
b��U�� 	 OP5� 4�$« . <�Q 6L@��� M��^�$�� ��*+�� A �:"=050 4$Y 	 �NG�@� ��@#' ���U�� Wa*�� <
 �94L 

��4$+�
 �J��c$� R$"�0 @�@�+�� .@�@�+�� �a*� 	 @%��� �&5� b��+�A� OP�$+� /H�:� �e�+��
 @� �� �&' Xª ���0c @�� . 
 �"U�� 	 h$Q$# �e�+��� k:= �J��012�;�
 	  6L@�+
 ���0c [\ ���P H�I0 i�L5� ���$� <
 ��$C
 ����# >�atA� 

���D� k:� �*#�a
.  
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����� 
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�� ��
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α
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���� �� ����

��� �
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 �����12  

����� � ��	�
�� ���
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��� ������� ����!� 11 
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 �"U�� m��013 ��= ¨��� 8:�� 84�@�� ���� i��!+)�# FQ$�� �l� �9' <
 ���*+��� �G�@+�� 64@*� ��&��+�� F�c$+�� °5,89. 
���D� k:= 	 ���$Q0 �K' $= X���� �o' R' ��90.  
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 �"U�� -Q$�14 ���;�
 bNG <
 ������ }�l�4� �o' X���� ��0�c ��A@# i�L5� ���$�� ��$C�� ������# >�atA� M . L�L��0
 ¬� 4�@�� }�l�4� F
 ������ ]���� 8:�� i�L5� ���$� >�at� ���aG10 000 km ��^��� 345� �*a�
 b�� $= ���!
 �����*� 

������ <
 ��D 8' 	.  

 �����14  

" ����� ���
�� ��
��� ������� ����!� #$� %& '(� )*+ ��,	� ��40-.&�/0� )123 ��	�   
 ��� ��3�4� �/5 	�/� � �+�6 �� �	��7°89,5 3�8(09 -���8+	�  

B 
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D 
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 �
���

���
��
�	


�
 �

��

��

�
  

���������	� �
�� �
��� ��)������ �� ���������������!� ( 

���"#"$�: A:%�&'�*� =km     400  
  B : %�&'�*�  =km     800  
  C : %�&'�*�  =km  1 600  

 D:%�&'�*�=km 10 000 
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 �"U�� -Q$�015 W�+"� $JP 64$aG �o5� �:= 	 R$"� A m�0 /i�L5� ���$� >�at� 	 ��Q45� �ag� }�l�4� �o' 
��v'���a*�� ]�E @�@�+�� ���0c [\ ���P m�a*�� <
 q��+KA� £ ���& L�L�� .  

 �����15  

 ��,	� ��" ����� ���
�� ��
��� ������� ����!��8(09 #$� �
�&3-.&�/0� )123   
 ��� ��3�4� �/5 	�/� � �+�6 �� �	��789,5 °  :�8+	�3800 km 

D 

C 

B 

A 
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5 
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5 

10 

1 

–1 
10 

0.0 45.0 90.0 135.0 180.0 

  

 RN"U�� m��160 17 <
 ��$"
 6@�$
 ��&�
 �o' 55 (��*+# L@�+�� I�l��� j@2+�� ��' $� ��& 6��*�� �l� 	 ���� �N��) 
 8�lE)CDMA(. m�"U�� m# ��4�*�� @�� �J��0 130 16NG�@+�� F�c$� R' M���� �9' <
  ��
�� ]#�U
 @��0 ���) 

A�D6L@�+�� ���$��� M .� k:= �J��0 �"U�� 	 ���9 ��4�*�17 ]���� 8:�� i�L5� ���$� 	 >�atA� R' m�+� |�� 55 
 4�@*r '$)' �N��)55@��0 ���) ]���� 8:�� >�atA� <
 6�
 .   

  

  

 �
���

���
��
�	


�
 �

��

��

�
  

���������	� �
�� �
��� ��)������ �� ���������������!� ( 

���"#"$�: A:%�&'�*�=°0 
  B : %�&'�*� =°20 

  C : %�&'�*�= °40 

 D:*�%�&'�=°60 
1108-15 
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 �����17 

 #$� %& '(� )*+ ��,	� ��" ����� ���
�� ��
��� ������� ����!�°40   
#$;0+3+�6 �� �	��7 -.&�/0�  �� �8�<� �=>0�� ��?
?3 /@�3 �55A.+�6   

 ��� ��3�4� ��/5 -�	�/� '(�89,5 °  :�8+	�3800 km  
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���� ��� �	�
� �
 �����)��������� ������ ��(  

����� A :�!�� "#�$ 
�����  B  :55%&#�$  
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7  ����� �����	�
�  

 ����� ���	� 
���
 ����� ��������
����� 
���� � �����!� �"� #�  . #��$ %���&� &'() ����*� �+, �� -����� /0�1
 21&� 3��
 � 456�"� ���� 7!� �����!����8��9.  

 :2	� #� 
���;�� <= 4�2�"� >?� ����� @A ���B1 CD
 ��0��� E�D�2*� 
�1�F 
!*") G2"8!� HB"� 
B�I� <J� ��K�1
4�<J� ����*� FDP%?� �9 -�0�� G�1"L 
����� 4���D�2� >?� 
0M��!� :2	� 45�8��� N! :&0�� O+!� :  

Q   "�"��!� 
�1�FQ RS �T� :&� ���6 �U� �� %'5' ���0! -�0�� 60 4���D�2�1 
U2� RS �T� km 800V  
Q   ����!� E�D�2�QVE�D�2*� #� -���&8� 
��6 G���F   
Q   
�W� :&� X6 Q  -���&8� Y0Z!� [?�� G���F \) �� ]1�&�� :&� X6 �U� ��201 
U2� 60
U2� .  

*� ^+, <J�� �� �K_G2"8!� HB"� 
B�IK! 
D?�` 4����F �U� �� 4�U����� . ����5! �K_1FDP 
0M��!� 4��W�) a�b� 

���M N�c 4�2�"� >?� ����� 
!�d � <IK) /�� <�J�! :&0�� �� e��!� 
�1�F 
!*") 
0D�&� :&� ���6 � . �K_1

�IK!� "d 1� G2"8!� HB"� 
B�I� G���F ��&�M�) f��8�!� <���N?�� 
�1�F1 2�"9� E�D�2� #� 
B . �� "�;9� 
�
�K�g� ^+, �?���1

��2"!�.  

 4�2�"9� h�"i��� �jB #M��!� �1 k:2	� #� 
���;�9� <= 
�&l�"!� N�c 4�2�"9� m��0��� >?� 4�U�����*� ^+, "��0�1
6�"�!� ��TdS �S nS 
��2"!�1 4���?09� �� "�;9� �?��� 
�o?�?,g� G"�"c �d�&� ���'� -��)�' ��K� *� >pA a�6 NU�) �

���	� 
���
 <��0� >��&� �� �q r�d &sp!� .
��2"!� �� "�;9� ��Jp�!� �+, #� Y�K�!� �l��1 �?���1.  

1 "�"��!� 
�1�F RS 
��
 ���	� 
����! 
��t9� 
���!�) ����*� <�J� �� :2	� #� 
���;�9� 4�2�"9� m��0��� "�;�1 
�W�
����!� >?� 
�u2	� .�TD9� H����!� ��&US �� -��;U G��� �Kp� 7!� 4�2����*� ��v� ��K� ��,1 . <= �� 1"�� "M N
� �w1

 
x��!� 4*��2y! �z ]���9� 
���!� {�D| � ��K� ��"�!� �}� �jB k
�u2� 
�L �K! H����!� �+, �Iw E1&p!� �K�9�
 �����!� ��) 
B�I�G2"8!� HB"� .(X8B 4���� "�"�  
8�8}� � �K_1k
�B�uS 
��2� ��&US h;?� �K! .  

 ����� e?�0��� �nS
���!�) G&8���:2	� RS  �����1 :2	� RS 
���!�) G&8��� <= �jB �s�D
 4���&�!� 3��
 � 
 %���! 456�"�!� 2�'� �� ���� * "��;�� "�80� >?� O���� f��8�!� 4�2�����f��&�� ����!�.  

 �&�p� ���� >?� G"d�� G2�T) Y��!� �Jp� 7!� 
�?���!� ����K!� N���� O+!� �6�"�!� 
��2� H�?9� �+, � �&U "M1
 
�?���!� 4*��2g� �� :&�B�1 ��&�?! G"�8� �"wE��M :2	� >?� G2"8!� HB"� 
B�IK! e)�' . �K_ 
��
	� {0) �� *S

#� 
���K!� �6�� ��0� ��f��8�!� 4��
�K�S ��� �� �K_ O+!� 4���&�!� m��0��� G���S ��?��  . ^+, e8�� �nS1
 m��0��� G���S X�61 %l���� h;d �� �6�"�!� 2�'� f��8� "�� G��D��*� �K_ G�"L 
��
� m1���� 
?TD� 
��2� � 
�os�9�

�����!� � G+D�9� 4���&�!�.  
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 �����4  

�� ��	
� ����
� ������������� ����
��� � �����
�� �� �!��  
��"�
� #�$%&' (�)* +��  

1  ���
�  

 4�<�� >?� 2�p�
*� RS �;0� O+!� ��b� ��K� r�d 4���&�!� 4�M��
 � 4���&�!� E��
� �� G�"0�� m�Kc� -��!�= H���
456�"�!� ���= "�� ���	� 
���
 ����� � %��l&!� ���!� �, G�"0�� .� �S1 "�� ���	� 
���
 @A ���B ����!� \���!

 �&U O+!� E���!� �Kc >?� �� "d RS "��0� �!n �� 456�"�!� <'(� e� E���!� 
���
 �����1 456�"�!� ���=
^2���6� . @A ���B 
���l&!� %l���� @l�T6 �� 
D?�` @l�T� #���� %l��, >?� m�T}� �K_ 
��
	� {0) �1

 >?� m�T}�E��� G2�cS .���&�!� 4�;�sx 
����� 
��
� +D�� �� �K_1/ G2�cS >?� m�T}� �U� �� 
D?�i9� ��"��!�

0�� .
�1���� %sB �&6	� ���c	� ���k G2�cg�1 
���l&!� G2�cg� 4�<�� � 
?'���� 4��l��, ��0��� O+!� h���!�B 

 h"8� 
�����!� /���\���M �� �nS ���	� 
����! E��� �1� h���) �2 . 2�'� 
����d �M� �, E���!� �n h���!� �� -�Z�� 1"��1
456�"�!�.  

 ����*� ���d 
�J)FDPE���!� %8�&� 5� � 
?'���� 4��l��, ��0��� %�M&!� h���!� �� :&�D� k
����� On h���!  .
 %K! %DK� �w �B�K�� 1� H�u 3��
 � ��0� h���!� �+, �� -�Z�� :&�D�1 >?� %��l2 �Kp) 
)�?�9� Nl��� 
���
 "��0�

G2�cg� ��6 .* O+!� &sp!� �� �;$� �jB 
!�}� ^+, �1  f��}� 
����!� 2��0� N!56 �����P0i  G"���w ��� �� �K_
 
J�T!�(20)-�nS ��T�1 E���!� h"�1 E���?! \�?)�89� \���K!� \) ;����!� 
��&c : 

(25) ∫∫
+∞

=
)()/(

00

0 )(d)(d

CT INCk

rIi rprIpIP  

 �6�"�!� G2"M "0�I RS 
��
 G;�� %��l&!� %l���� >?� O��� 7!� G��8!� � �s0�F��1 NT h���?! 
tB�K9� ��u�Z!� G2"M 
G��8!� ^+, >?� EF�9�E���!� h"� 
!�d � ��?I�  . "0) �6�"�!�  G2"M �2"� k�6�"�!� RS �;0� O+!� ����*� "�"� 
�J)1

 
$�09�IC
$�09� "0) ��u�Z!� RS 
���!�)  . ��� ��U�! -�&�
1 #D�&� G2�cS 
$�0� ������ �K_ kE���!� �� >?�� h���?!
 
��8!� ��u�Z!� ��K� +6(� r�� �&b�NT . %, ��&��0� ��09� �&b� G2�cS � �6�"�!� G2"M ��K�1IC . 
!�d � �+K,1

 �Kp!� f�2 ��0� E���!�10 r�d IC "dS %,  
!��09� "�"� �U� �� 4����!� 4��'�(25).  

 @A ���B1 E���!� m��0���) ��0� 
�)�I!� 
�"i?! h��
1 4�<�� >?� 2�p�
*� RS �;0� O+!� H��0!� ��b� N�B ��K�
 
����!� h"8� k���	� 
���
 � ����5! %��l&!� ���!� �, G�"0��ITU-R P.5302�cg� 4����) ����!� ���� 
8�&�  4�

H��0!� ��b� h��
 � E���!�) f?��� 7!� 3���!� 
8�u . �K_1 ������� �� �8� O+!� ��b� ���� m���d� ��r #� ����� �, 
r
2 . #� 
������ ��K� �� �q ��b� ���� �U� �� m���d*� 
B�I� 
!�� �� �!n �� ����1r1 ��:  

(26)  1)( <<γ= rrrp
r

 

 %��&� r�d 
�?09�γ� E���!� Xv RS �;0� 7!� 2�'�� G2��0!� ^+, .  
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!��09� �� �d�!(26)G�"0�� 4�<�� >?� ��b� ��U�) 
�)�I!� 
�"b� 
��
	 E���!�) ���	� Y�1 -����� �����  . "��1
 \�!��09� \) ���K�!�1 m�"���*�(25)1 (26) >?� m�T}� �K_:  

(27)  ∫
∞

+γ=
0

2

2

2

0 d)()(
2

IIpIN
C

k
P ICTi  

�*� 1� E���!�) ����! ���!� ���(DFDP):  

(28)  IIp
N

I

N

I
DFDP I

T

C

T

C d)(
2

2

2

0














+= ∫

∞

 

 
!��09� ���d �K_(28) 
!�s�)  �\���, \�!�d : G2"8!�1 ��K!� O1��� \) #�$�) E���!�1 ��"��!�) ��I9� E���!�
��T8!� .���!� G��M %l��� �s�B ��K� 7!� 
!�}� �U� �� %?� ���B E���!� ��v r����1 
���l&!� G��8!� %l��, ��� CD
 E

1 �����8!� ��K� �"� ��\�?'���� �!n.  

2   ��������	
����  

 G2�cS 2��A ��"��!�) ��Jp� H�&� �� H8��� 
!�}� ^+, � E���!� 
�?�� �S� ��b	��M . G2"M 1� �6�"�!� G2"M &s�� ���!�)1
| �� �1� �&b� � &6� 1� %l��, � 
tB�K9� ��u�Z!�1 kG&��0�?! #Z:  

(29)  IIp
N

I

N

I
DFDP I

TT

d)(
2

0

2

2

∫
∞














+=  

1�:  

(30)  IIp
N

I

N

I
DFDP I

TT

d)(
2

0

2

2

∫
∞














+=  

 r�d1Iav  
!��09� � 4�"� ��� %,(23)���!�� >�0� %,1 �6�"�!� G2"8! 
�
�I!� 
��?!� k:  

(31)  ∫
∞

=
0

2
2 d)( IIpII I  

 
!��0�?! -�Z�� �K_1(30) 
!��09� �Kc CD�) ��K� �� (15)�0��5! G���W� � m�:  

(32)  






















+=∑

2
2

T

i

T

i
i

N

I

N

I
fDFDP  
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3  �
�� �� ��
�������  

 m"0� ��T8!� G2"8!� �n h��Z9� �S E���?! \���M \) ���!� 2��!��!� HB��� H8��� r�� ��=&9� G2�cg� 7i�
 \) 2�
z��\���8!� �  .B ���l���� �s���� 7!� 456�"�!� \) �����!� RS -�&�
1 
���!� �jI/N h��Z9� �&6 � \�&w >?�� ��K� 

z ��=&9� G2�cy! O+!� N�D
 ���!� 2��!� �6�"�?! ��� �nS �6"!� � �s���� . e
�� �nS1ϕ  %, \0� 
�&�M YT
 ���1F
 
��M �jB k�z ��=&9� G2�cy! 2��!� 
d;dF \)1 �&6� RS G��M �� �6�"�?! 2��!� 
d;dF \) 3&D!� IC0����!�� >�:  

(33)  IC = 2I cos2 (ϕ/2) 

 
!��09� � �6"� �� G2��0!� ^+� �K_(28) . 2��!� �� :&�B� �nS1ϕ \) h���
�) EF�� �, 01 2ϕ ^<'(� "�"� �K��B 
��� >?� m�T}� �K_1 X���9�:  

(34)  IIp
N

I

N

I
DFDP I

TT
mpc d)(

2

32

0

2

2

∫
∞














+=  

1�:  

(35)  
2

2

2

3
2

TT

av
mpc

N

I

N

I
DFDP +=  

K� �� -�Z�� �K_ �Kc >?� G2��0!� ^+, ��9� 
!��015)(G���W� � m��0��5! .  

(36)  






















+=∑

2

2

32

T

i

T

i
i

N

I

N

I
fDFDP  

4   ������� ���� �� �	���� ���� � ������(DFML)  

 h���! ����*� Y0u �M	� >?� ��K� E���!�) �� h���! ���	� 
���
 � ���!� ����*� �() ����!� �K_ kh"8� �� >?� ���)
��s�D
 �6�"�!� 
t�) e
�� �nS H)���� N�K! E��� �1 . 
!��09� e8�� �nS kCK0!�)1(26) �� RS ����!� 
!�s�) �K_ 

 G2��b�DFML 
��0� 
��M �U� �� DFDP 
��M CD
 �U� �� E��� �1� h��
 � G2��b� �� \�&w &J�� %, FDP:  

(37)  DFML  =  5 log (1  +  DFDP) 

1�D�!� �"� �nS 
�)�I!� 
�"b� ��8��� � �6�"�!� G2"M � 4σ2 G���09� 
8�&�!�):  

(38)  
2

2
2

avI II −=σ  

 �U� �� 
�!��!� 
M50!� 
)��� �K_1DFML 
!*") FDPE���!� h"� 
!�d � :  

(39)  ( ) ( )22
/1log10 avI IFDPFDPDFML σ++=  
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5  �	
�  

� 
�"i?! m��8��*� h��
 � 
�)�' �6�"�!� G2"M ��K� ��"�� 1� k
�)�I! G<J����;!� #� Y�D� �Kp)k ���, � G2��b� �jB 
 h���?! ��b�>8��N
1") 1� E���!� #� �s�D
  . 41�D�!� ��� �nS 
D�0u �6�"�!� 4�B5�6� /�0� �� 4*�}� f�0� � �K_1

�6�"�!� G2"M X���� #)&9 -�z�p� �6�"�!� G2"M �.  
1 &'S �s�!S ����!�   7!� �l���!�W G"�"� 4��?�� G���� 41�D�!� �� >?� m"� 
����9� 
�?���!� ����K!� N���� O+!� �6�"�!

�6�"�!� G2"M X���� #)&� �� 2�p�� G"0) >?�� -��!�= �, �6�"�!� G2"M � . �1
!�}� ^+, � 41�D�!� 
¡��� ��T� 
 \�!��09� �� 
�
�I!� G2��0!� � N�� /09� �6�"�!�(30)1 (39) "l��!� &'	� %,k �6�"�!� G2"8! 
!��89� 4����!� �� "� �+,1 

��b� �� 
���}� ���, � :�D¢*� 1� ���	� 
���
 � ����*� ��0��� ����.  
 ��b� �� 
���}� ���, :�D¢� �, 

2�8�?! X�)	� 2��09� �jB kE���!�) ��0� 7!� 
��
	� � �6�"�!� 2�'� f��8� \0� �nS1

���"��!�) E��� On ��I� h��
 .  

  

 �����5  

��� 	
� ��
 ���
��� ���� ������� ���� ������
�  

 �S X8�� ����!�non-GSO:2	� ��� >?� -�<�� ��;!� 
!*") f�&� O&l�� 2�"� �  . 4�2�"9� �� \0� �"� "0)1
 
�8�!� CD
 RS <�9� ��0� 
?��K!� -���&8�:2	� ��� >?� .M�!� ��� �sB G��0!� ^+, £1"d \d RS %Z8�9� e"21� 

2�&K� "����!� .1�?��� "M 
�?���!� ����K!� �?� 
��61 �s�"! 7!� 4�21� G<TM 2�&K� ) �I� 
?��� 4�&�B 1� h��� G"�
G"�"� &sc� ( -���6 -�,���
�� &sc O� � ���	� 
���
 4��?��� 
��?� 
�)�I!� 
�"b� 
��
� >?� �q N
	 �!n��.  

 �����!� 
���� N���� O+!� �6�"�!� G���W 2���6*� �s�?� #M1 7!� G&�D!� ���non-GSO �� �o�B 
�)�I!� 
�"b� 45�8��9 
\�'� \�&c %��&� .�, m1	� G���W� G&�B m��0� �� 21� �� ����! \0)���� ��21&� \) %Z8�9� ��;!� O� 
���K!� 2�&K� 

�� �� 
��0� 
�8
 3�B:2	� �. 1 ¥�I!� �, � h���
*�����!� �6�"�!� 
t�)
���K!� �� m��!� X6 >?�  .��TdS �S1 4�
:&0!� X6 CD
 >?� 
0M��!� 
�)�I!� 
�"i?! 
?'���� 45�8��� ^�8?�� O+!� �6�"�!�YM��� "M  X6 >?� -�Z��  m��
�W� .

�F�� @�D� H�&� �� m��!� X6 
!*") <J�!� �+, f��8� �K_1 #� 
�l����*� 4�&�9>?� X6 !�m�� ���UQ �K! m�¦
 m56 
���K!� ����� �� ��������!� 21�.  
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 �����!� �� G2��T!� 456�"�!� f��8� �o�B k��� &sc O� � ���	� 4��?��� %��&� �� %J��� 
�)�I!� 
�"b� 
��
� �� �w1
h1"� 
�§� G&�B �"� >?� O� k-���� &I�	� &sp!� ���� >?� 30-����  . h��
 � ����� :�D¢� "�"��! G���L e�&U�1

N
1") 1� E���!�) ��0� 7!� 
�)�I!� 
�"b� 45�8��� �U� �� ��b� . �� >?� 4���2"!� ^+, e!� "M1\��?09� FDP 1� 
FML8?0�� ���"�!� 
t�) h���
� @l�Tb� ^+, �"� nS 
���K?! 
�!1	� �1&p!�)1 
�2�"9� @l�Tb�) &sc �"� >?� �6.  

 �����!� 
���� X��| � ���!� h���
*� >?� m�T�?! G�"0�� Hl�&� m��0��� �K_1non-GSO �I� <�J� E�D�2� 
"0� 1� �����!��1 
�2�"9� 4�����9� �s?Kp� 7!� 
�1�;!� �/ 1���&US����� �� �����?! 2��!� 
d;dF  �6�� &6� RS 

4�����9� .!� ^+, �1"U �?���1
��2"!� �� "�;9� Hl�&� .1 
�s� G2��i9� 
8�&�!� e��! k
�)�I!� 
�"b� @A ���Bfs9� 

�!��!� 
�8�!� G���&� �, : 
t�) 
�)�I!� 
�"b� 4��L �� <�� �"� NU��� �� kh���
*� >?� m�T}� f�� ¨ �nS >pA

���	� 456�"�!� . "�� ��,n	� �� 
�8�!� ^+, ��J� *� %J���1US
�?�TD� 
��2� ��& � 456�"�!� �so��� 7!� 2�'©! 

�?0D!� 
��
	�.  

 �����6  

�������
���! "�#$%�� ���
& '$() *+ ,-��$�� ,�
.�� ��/�� 0(1����� 234$��� 
3
���   
 ��5�%6�� ��78� ���9:; <�� =1�$9�� �>�?�+ ,�1�@ �5��� =/Anon-GSO  

1   !� �"#$��C/I% C/(N + I)  

 H�?9� � 
u1&09� Hl�&�!� ����3 "�"��)  \���8!�FDP1 FML � �z 
��b� ���	� 4���� #8� 7!� 
��M&!� 
��
	� � 
G�"0�� 4�<�� >?� 2�p�
*� RS �;0� O+!� H��0!� ��b� 
8��� . G&8D!� � G�2��!� 
8�&�!�) #���!� �K_15 �+, �� 

�M	� ��b� 
��
� ��p�! H�?9���b� 3���	 %���&�!� #�F��!� �Kc ��K� �� �K_ r�d -�8�� -���,  ."�"� �K_1 
:&J!� �+� 
�!��!� 4�0�F��!�:  

  FM (A):   ��
� 
��� RS �s0B"� ��6 RS 
?�8��9� G2�cg� :&0�� �� m���d� �8�2�"8w  (dB) A�� &I�� 1� 
��b� �1") m��8��*� 
��� 1� %§*� ����9�  

  FC/(N + I)(Z):   
���!� ��K� �� m���d�(dB) 2�"8w ª�� �6�"�!�1 ��u�Z!� 4�2"M E��� � 
?��}� 
U�9� G2"8! 
(dB) Z �M	� >?� ��
?��}� 
U�9� G2"M /��b� ���= "�� ��u�Z!�.  

 
!��09� @A ���B1(20) �jB  ���d ���K�!�! <J��?r %�0� FM (Z – 10 log (1 + I/NT))��K�1  ^+, �� &��	� &T�0!� 
 �, 
!��09�FC/(N + I)(Z) ��K�1-�nS :  

(40)  F Z p I F Z I N IC/ N I I M T( )

0

( ) ( ) ( 10 log (1 / )) d+

∞
= − +∫  
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!��09� ���� kG�2��!� �6�"�!� G2"8! m���d*� 
B�IK! 
!�� O()1 G�"0�9� 4�<�9� >?� ��i?! #�F�� O() H?0�� ���B1(40) 

?��}� 
U�9� G2"M 
���! %���&� #�F�� >?� m�T}�)�6�"�!�1 ��u�Z!� 4�2"M E��� RS  . G���W� G��� �&x1

 m���d*� 
B�I� "�"��! ����}�)
�"b� ��8��� � �6�"�?! RS �;0� 7!� 
�)�I!� �����!� 
���� non-GSO .« �nS1e 
#�F��!� �+, >?� 
�B�W�  
!��09� � -�8d* ��0��� �� �K_(40)8� RS %�&� &6� ���d �U� ��  �s'"� 7!� 2�'�� f��

���	� 
���
 � H�0!� X���� ��b�.  

2  ���� &��'( ��)�*��� �	+���� �,-.  

 E��8!� "��ITU-R -��u��2 -�Un�v �&� 
����!� � ND�1 ITU-R P.530 �� Y!(��1  
���� 4�<�9� >?� ��i?! 4�0�F��
 
�?0w ;���� G�"0�9�qt . "�"��) �n���!� �+, ����1 
!�"!�FM (A) f�M #��$ Ak 
�U�9�  �s��
�!��!�1 . �n���!� ����1

�l���!� ��u��1 4���&Ug� "�"��! -�0B�
 -����� .�1 �n���!� �+, ��0�� :&J!� �+�
�!��!� 4�&8D!� �.  

3  /�0�  

 �Kp!� �u��18 �� ��1F� 
�¬  4������#�F��!� \����!� {�Di�! C/I1 C/(N + I)  ��1F m"0w! 
�?0�?! f�M C¬ �K
qt  
B�I� f�M RS -������� 4�����9� ^+, e§21
�!��!� 
!�}� � G�"W� �6�"�!� m���d� : 
���� G���LLEO-F #� ��0� 

 
����!� � G�2��!� G2"8!� HB"� 
B�I� 4����ITU-R M.1141 ��&�!� � 2 180 MHz �6�"�!� £"� r�d k � 
�L
)�I!� 
�"i?! m��8��� "�� 
0M��!� 
� :&� X640 e��!� 
�1�F1 
U2�  � %, -���� &I�	� 
!�}�50
U2�  . 
��M "U��1

 
�?0�?! G"d�1qt��U 
8��� � \��0� #M��1 m�� #� 
�)�I!� 
�"i?! \0� <�� �U� �� Q
�6���. 
���&!� 
B��9� �)�8�1 
	­��� >?� 
�8
 O #�F�� 4������ �� C/N� #�F��!� ®d1  �)�89C/(N + I) %8B	� �TD!� ��� V���	� 
���
 � -������ 

 �)�8�B G2��b�FML . %0�F�� \) �TD!� 4�B��9 �K_1C/I 1 C/(N + I)fl5� ����d ���
&) 
����) 
M") �"� ��  .
 �Kp!� \��119 �Kp!� � G�2��!� 4�0�F��!� �U� �� �+s� ���d �l��
 18.  

 �S\) 3&D!� C/N 1C/N ��b� ���= "�� _��b� H�� �I . H�0) ��6 �U� �� Y�D� �Kp) ��b� ���, G2��6 {Di��1
 \d ��?Mqt = Q2 k1 
�)�qg� f�8!� @A ���B1 �)�89�)qt e� ��i?! 
�Un�v &I�� "0� 7!�  ��&�!�3 GHz ^+, #D�&� k

H�0!� ��?M ��b� �U� �� <�� �Kp) G2��b�.  
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 �����18  

 �������� �	�
��� 
�������� �������C/N � C/(N + I) �� 
�
���� C/N
��� ������� ��! "�#�   
 
���$�� ����% &'LEO-F
���(�� 
�#��� ���)�*+� ,-��. 
��� / 0��1 "�#� 2�34��� 256 &�   

 #�' 75�� 89 
����°50 :+�;  
������ �<#��� =�> 256 &�qt  
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�
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��
� 


��
� 

��
��

�
� 

�����C/N�� C/(N + I)�	 
���
�� C/N ���� ��� (dB) 

qt   = –2

I:qt = –2

qt   =   0

I:qt =   0

qt   =   2

I
: qt =   2

qt   =   4

I:qt =   6

qt   =   6

I:qt =   4

1108-18 
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 �����19  

 �	�
?�FML�1 "�< ��?� @��� 
���� 
��> 256 &� 0�  
 ������� �� �#��
� 2$4�� / 
����
A� ����B�18  

) 
���� ���
� =°50(  

0 5 10 15 20 25 30 35 40 45 50 

0 

1 

2 

3 

4 

5 

6 

7 

8 

  

4  ���������  

 ������ ��	
 ��FML � �
�� ����� � ������ ������ �� ��	� ����� ��!"��� �
 . #�$ %& '()�� *+� �� �	,-
����� �� �
�!�/
 . 0!� ��� ��	
-FML�
12� 3"��(��� 4�5���� *!� �
6�+�  .-� (789�: ;2	<�� �=��>� �?$ 18 

-19 . ������ �� �=��>�� @AB ;

-� C+�D� �B�6 E2

F G�� �
�� ����5�
  �2��>�� �
�� ����� ���H- ��� I/!� *�
 @AJ��!?K?�� . �� LM�-- ������FML 
 N���� �
O �"$ �;�� ��� C2$ �
�� ������ 3"��(��� 4�5���� *!P (QR�.  

9�: 4�-�
S
 �� �	, �
�� '�"$� ����5�
 4!T C2$ �K2�� �AB � �M-(��� �!U7?��  .
 C2$ �
S
 �� V(�)�- ����5�
 �!W���� � X�W��� Y:�"?�� C2$ -� �!>!>6ITU-R P.530 . 0!!>��� �&-�!���� (QD FML C2$ 32�)�� Z�8?� [�#D� �!$�= 

 4� �?!�� �
O ���� *\� �� [�SOD� [�#� ]^ �"!_ `�!$�= -� Z�8?�� �AB ]a�+b �>!�# �_(�� c2S�� ������� ���12� ;��
��� [�#D� �!$�= �����`� �W.  

 �
��

�
�

�
F
M
L

 
(d
B
)

 

�����C/N�� C/(N + I)�	 
���
�� C/N ���� ��� (dB)  

qt  = –2 

qt  =   0 

qt  =   2 

qt  =  4 

qt  =   6 

1108-19 
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 �����7  

���	 
���� 
��
� 
���� �� 
���� 
��� 
�� � 
���	� �!����	� "�#$��% &' 
�(�	�� )
��(� *+ 
 
�,���-.� )���/ ��0���� �1�2 �3 
�,���-' 45 
�
6�7 ��0��� � 
���� 809�(HEO)  

1  �	
�	  

�� �
��� �7!�& �?��
 G�� ��!M()�� 32� �"!_*
����� �d V�D� %& �
�?��� �(>�� :  
f  Ms

 

- ������� �������� 3BNs
 

g(>��� *� � *
����� #�$  
f  gh��Q ��-�U��� ������� �������� ;� i-�j�� �$�
���  
f  g����Q i����� k)= � ���-�U�� ;2
�� i� ;� �2W�)�� �!?�j�� �(�)��  
f  gV�D� ���-�� I�!M��� l

(� �d ����� �-#  
f  g�2Q�"�� ��##(
 C2$ *�(
 *
����� 4!T  
f   *!�� ��-�5δ*
����� 4!"m ��6�- 3B .  

����� ���6 �- 9�: �$ I/n_*
����� 4!"m ��(�<� o!np� ��-�5 �� V(�)� 3U2!2Bq� .  
>
 X�r �K2�� �AB s�M�� �>�(S�� �!
S
 �	,!��� �(>��� �d *
��� �
��� �7

�
 G�� �/O����� 0! V�D� %& �
�?

�2��t �!��$ �!Su
 ;�R�� �������� �� #�$ � *"�
 ���� *
��� 0n
- v�n)1?� -� �S���� �!M�� ������ Z�1��
 .
 �"!_ I�#-�6 �>�(S�� @AB 4n
 w-^��##(��� x�� C2$ �>
S�� y#�
�� ] . s�S>�� ��!W�
 � �#����� #-�p� [�?�����

ITU-R��\- �& �2+�� ��:  . �(>)�� � �K2�� �AB �J-�?�� G�� �!2!2K��� �>�(S�� ]a�+O ]12�
-6.  

�� c���� �7

�
 G�� �/O����� ���6 � �>�(S�� @AB C2$ �/������ o�� N�O#& 3u
?� `=� �d*
��� �
�?��� �(>���� �d 
 �!U2!2Bq� ����t ������� � �2����� V�D� %&(HEO).  

 *!�A��� Z�>�-2  �!
S�2� �2��� L
+
 3	� o�� �"!_ �#����� �!2!2K��� �>�(S�� C2$ �J�O#& c\���� �/������ �K2�� �AJ
 ������� Z�1��
 G��- V�D� %& �
�?��� �(>���� �d *
����� c���� C2$HEO.  

 *!�A��� �- �K2�� �AB � �#����� �!2!2K��� �a�(S�� �� �� 0d(���-2��
 `� 4�����  v��6�- �Sz 0n� ����Q ���O Z�8= *"�
!��
 ��!�� �� `={_!>
 *"<!� �7>!
S
 '�S= 4 #�K�� �#���� ��j)>� ����Q ���O Z�8= � I���� I���� 3"��(��� *O����� 0!

 |�S}w� `!_FDP  I���� I���� �K2�� � �#����� �u!+�� N�"�����2 �!W����� ITU-R F.1107.  

2  ���

� ���������
�� �  

�"8�?� ��(a���� ������� ���6 � V�D� j�(�- *
���� ;� �2W�)�� �_���� �& . N�"�6w� �_��� ���# �� �"�-(pdf) i� v
p(u) ;� ���+~� *
���� ��-�j� u- u+dui-��
- I�n�� �"8�?� :  

(41) p(u) = 1/(2π)  
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 i-��
 *
���� ���-# ��� �� V�(�_��-1
�� 4� �	, v ��-�j�� �$ �
���� Z�$ x���� C2$ [�>u �8K2�� � t) 0 ≥t > (1 

������ :  
(42) u = 2πt 

 �(>)�� |-(<� �!>��� N�6 � V�(�_w� �	,1 N�"�6w� �_��� ���# �� v(pdf)O C2$ *W�)�� � �"8�?� *
��2� N�S�� l 
2π�0.  

 3B ������� ������� h=�� �:& �A	B-Ms � � *
����� #�$- �B x���� *Ns N�"�6w� �_��� ���# �� V�(�_� �	, v
(pdf) *W�)�� C2$ �"8�?� 3�\(� *
�� ��-�j� 0-2π/Ns N�"�6w� �_��� ���# ��- (pdf) �"8�?� *
��2� N��S�� lO C2$ 

 *W�)�� �0-2π.  
 3B ������� ������� h=�� �:& �A	B-Ms ����� *� � *
����� #�$- �B Ns V�(�_� �	, v N�"�6w� �_��� ���# ��

(pdf) *W�)�� C2$ �"8�?� 3�\(� *
�� ��-�j� Ns/0-2π . N�"�6w� �_��� ���# ��-(pfd) �"8�?� v3�\(� *
�� N�� l� 
 *W�)�� C2$0-2π/Ms  �:&-�� �� 3�\(�� *
���� N�� lO- *
���� ��-�5 h=u- ϕ  �$ �
���� �Aa�?$ �	, ������ C2$

 ��-�j��uij lO-  N�S��ϕij c!
(��� i: *
��2� i i����� � �-�� iA�� j)  0!>2� 9�:-i =1v2v...vNs
 

-j=1v...2vMs (
 �!����� �>�(S���)(8=� �86/�� 1:(  

(43a) uij = u + (i − 1) 2π/Ns  

(43b) ϕij = ϕ + ( j − 1) 2π/Ms 
 

 �!6i =1 - j =1
���� �/��>� 3�\(�� * .>
 9�: ��� �	,-!���� 0!� I���"$ �/O�� � �7)W- #(� G�� �>�(S�� s�


 �(>)��4 .  

�� ����1� ������� 	
��
 (43a) �� ����� � ��
� ���� ��� �
���������� ��!��"��  . �#�! $% ��
��� &'( ���� )�* � +,-/!�

 0�� 1���� �!����� &'(������� :uij = u + βj + (i – 1) 2π/Ns 23* 4βj
� �(  5��"�� � ����� �j )β1=0 .(  

3  ��������� ��	�
�� ��
�  

1.3  �� ������	) 
��� 
��� �� ����(  

 �_���� [�S$& �	,r (u) ��-�j�� ��w�� 3U2!2B& ���� � *
��- V�D� j�(� ;� �2W�)�� u ��!����� �u!+�� :  

(44) 
)(cos1

)( 0

ω−⋅+
=

ue

r

ur   

 �!6e- ω j�(�� X/�Ow� �������� C2$ o!np� ��-�5- i . j�(� %& �
�= `n!n6- ����� Y-� ��_��� CS�
-
 ;�u!+��� V�D�r0/(1 – e)-  r0/(1 + e)

 

������ C2$ . �$ �
���� �	, I�!�	$-r0
 

-e�!����� �>�(S���  :  
(45a) r0 = 2 rmax ⋅ rmin / (rmax + rmin)  

(45b) e = (rmax − rmin) / (rmax + rmin)  

 �!6rmax-  rmin  o!np�- Y-D� ��_��� ��)������ C2$ V�D� j�(� %& I�
�=.(  
2.3  �� ���� ����� ������ �!�"� ���#���	  

 3U2!2Bq� ����� �$ �_-(��� ��(8?�� N�>
)����� �2!� ��=�� (& �"����Q k?	�� �>S?� �$(� "32� �"� `?$ �
���� �	, �� :  
(46a) r

2(u) ⋅ (du / dt) = constant 

 -�  
(46b) dt ∝ r2(u) ⋅ du  
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 �� %& �?B ���tq� ���-dt�� o!n6 ��-�5 ��	
 �� N�"�6� 4� c��?�
 *
�� ;� ���+z )u - u+ du .( CS�
 ������-
 N�"�6w� �_��� ���#p(u) ��-�j2� u �*
������� �K?�� C2$ ��  :  

(47) 
[ ]2)(cos1

)(
ω−⋅+

α=
ue

up  

 3u
?�- *��	
 i-��� ��p(u) 4� u x��� � 0-2π  �"!� ���� L!�� �� v�6����α:  

(48) 
π

−=α
2

)1( 2/32
e

 

 V($ lO �� �?B �6/?�θ ����� �K?�� C2$ o!np� ��-�j� l

(� *
���� :  
(49) θ = arcsin (sin u ⋅ sin δ) 

 �!6δ����� *!� ��-�5 3B  .� ���6 � ��#���� @AB �
S?
-��(a���� ������ .  

3.3  ��
�� ��&�� ���'� ����� ���*  

 i-��� *
���� �-# �� vZ���� x����� C2$ [�>
�� 4� I�S!�

 V(�)= �� �	,1. ��-�5 ���� i�-(n�� �� ��	� �� I�
��d- 
 o!np�u(t) ��j�� ��w�� t �!6 0 ≤ t < 1 .�!����� ��#���� *6 �	, �A�- :  

(50) ∫ ⋅=
)(

0

d)(

tu

xxpt   

 ���6 l!�

 *\� ��-u(t) C2$ i�S?
 G��- ��� �"!_ �#����� �>�(S�� N�"���� �	, v����� �!�W C2$ ����O �-# 
 C2$ ���� 0!�>
N ���� C2$- tk

 

������ :  
(51) tk = k/N   (k = 0, 1, ….., N) 

 �8K2�� � o!np� ��-�5 %& ��<�-tk 32� �P u (tk)= ukK�
- �!����� ��/���� #� :  

(52) ∫
−

=⋅
k

k

u

u

N
xxp

1

1
d)(  

 �"!� �!����� ��/��� 3S�
- ��-�j2� �!
�(>
uk)  �� �6wu0 = 0:(  

(53) 
)(

1

1

1–

−⋅
+≅

k

kk
upN

uu  

 �� V�(�_�� ��?
p(x) x��� � 4>�- h��Q )uk �uk–1 .( %-� �!
�(>
 �"!� C2$ �u!+�� @AB i�S?
-uk �7�"!� ���� �	, 
!���� �>�(� N�"����� �>Newton-Raphson)  (8=� �86/��1 .( C2$ N�+p� �	, 9�A�-uk 0!>�� 4!"m 

tk )k =0v1v...v N .( �� �6/?�-uN = 2π.  
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 �"!>�� c�(>
 �	,-u(t) ��j2� �2��>�� t�!����� �u!+�� N�"�����  :  
(54)  (t) = N [(tk+1 – t) ⋅ uk + (t – tk) ⋅ uk+1] 

 �!6tk ≤ t < tk+1 ) h=�� �:&t ≥ 1  �u!+��� '()�� �AB �$ V����� �� 3u
?�tk ≤ t − 1 < tk+1 .( �"!>�� �:&-N  %& ��
�
�X�� �6 *�� )N=10000 ( ��#���� 3S�
)54 ( �>!�# �"!�u(t)��j�� ��w��  . *!�A��� �+�-1 �S�
� ���6 �>�(�  L!�


 ��#���� *��	
 �$ [�?u��w�(52).  

 ������1������ ��	
�� 
����� ��� ��� ���� �
	 ������� .  

 ��#���� L!�
(53) �!
�(>��� �"!>�� ���� ν0 ��-�j2� uk:  

(55) 
)(

1

1

10

−
− ⋅

+=ν
k

k
upN

u  

 �!
�(>��� �"!>�� h_($ �:&-νi–132� �"� �!����� �!
�(>��� �"!>�� [�S$& �	,  :  

(56) 
)(

)(

1

1
1

−

−
− ν

ν−ν=ν
i

i
ii

p

f
 (i = 1, 2, 3,…..)  

 

 �!6  

 ∫
−

−

ν

− −⋅=ν
1

1

1
d)()( 1

i

ku

i
N

xxpf (57)  

CS�
- ���"!>�� p(νi–1)- p(x) ��#����� )47) ( �� �6wp(x) �>�<� 3B f (x) .( �>!�# �"!� C2$ ���7�� N�+p� �	,-
 ��-�j2�uk ;��#����� �����p� ��(	��  (56)-(57) .I��\ 4�(�_ ���>��� ��� . �"!>�� ���6 �	, N���� *!
� C2$-f (νi–1) 

���
� �>�(� Z��1���� .  

4.3  ������� ����	 
�
�  

�!U2!2B& ������ � �-�
 G��- V�D� %& �
�?��� �(>���� �d *
����� 4���� ���K�� �>�(� �(>)�� @AB V(�
 . V(�)�-
 v������ ������� #�\-Ms *
��� #�$- vNs����� *� � .  

 4���� �� Aa�?$ V(�)=)��j�� (2�*
����  x��� � Z�8�=�� s5�� 3�\(0 ≤ t < 1/Ns *
���� �AB N�� lO ��- φ s5�� 
 x��� � Z�8�=��0 ≤ ϕ < 2π/Ms . o!np� ��-�5 CS�
-u(t) ��#���� � ���p� @AJ �2��>�� (54) . *
����� o!n6 ���-5 ���

 ��8K2�� *��>�_ ����� k)= � �#�\��� x(OD�t + (k/Ns) �!6  ��k = 1  %& Ns – 1.  

 ��#���� L!�
-(49)� i����� � *
����� V($ |�SO ���2� i5���� *
��3�\(��  .-5 �� V�(�_� �	,-� o!n6 ��
������ �������� � *
������3�\(�� i����� i����� � �-�
 G�� *
����� � ����8?� �2Q�� x(OD�  . ���� *7��� ��-

���� 4!T N�� |�SO`n!n6 ��-�5- 3�\(�� *
���� N�� lO %& I�#�?��� *
� .  
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��!�$w� |�>= � *O����� ���6 i�-(n�� �� v�!2�)�� �����p�� �2��� �"!_- .�� �AJ-u C+�D� ��j�� 0!�>
 0�� V(
(= 1/Ns) C2$ *
��2� Nt N�� lO C+��- (= 2π/Ms) C2$ 3�\(�� *
��2� Mϕ. . N�"�6w� ��	� �A	B-1/(Mϕ ⋅ Nt)  ��

 *
���� (78�;!����� N�S�� lO- �8K2�� � 3�\(�� :  

(58a) 
t

t

s
N

i

N
t

5.01 −⋅= (it = 1, 2, … , Nt)  

(58b) 
ϕ

ϕ −
⋅π=ϕ

M

j

M
s

5.02
( jϕ = 1, 2, … , Mϕ) 

 �w#���� %& I�#�?��� �
��	�� *
��� 4!T N�� |�SO- V($ |�SO ���� �	,-(49) -(54)- (58a)- (58b)  
�- ���"!>�� ��	
 �Mϕ-  NtZ5/�� �� N��� ���p� h�-- ;�!_�� �d. � @�=#� �#����� �>�(S�� #�"�$� ��K��� �A� 

����p� ���?�� � �>!�# �����6 [�(\& N�6 .  
 ����#���� �B#�� �!2O *� � 3a��72� i-�j�� �$�
��� ���6 3u
?�-(58a)- (58b)3a(� *
�� *	�-  .�*�� ��� �:&- �$�

 

 (uW� ��/O %& ���\ �� �7"!�>
- ����6 I�>S?� �2��>�� �!2�� ��
�$� ��!�
 �?!��� �
���� �"!� �� �#� i-�5)(8=�   
 �86/��1.(  

 ;��#���� �$ ;��= 3�\(�� *
��2� ��
6�+�� N�S�� lO- h���� ��� �:&(58a)- (58b) C2$ N�+p� �	, ������ C2$ 
 h����tij  N�S�� lO-ϕij>2����  *
����� ;i ����� � 4����� j) i=1v2v... Ns-j =1v2v...vMs( ;�u!+�� ��(� �$ :  

(59a) tij = t + (i – 1)/Ns 

(59b) ϕij = ϕ + ( j – 1) 2π/Ms 

 �!6i =1 -j =13�\(�� *
���� �/��>�  . o!np� ��-�5 ���6 �	,-uij
 


��2� *ii����� �  j� �!
S��  ;��#���(54) 
-(59a)) (8=� �86/�� 2 .(  

 ������1� �������	 
��
��� ���� ������ ����� ���� ����� )�!"� ��	�� ���� ��# ( $�%�
�� ���&' �*�+, �-.� /�01 2�3 ���4 �5�6��
789� . �*��; <�= >;���� 2+?�+��9� �*�+@� �A��B.� 
���C� ��!D� �E��� ��!�  ��!� F1 �G���	 �EB-+A�� �*�+, ��!� �HI J.
�KLI . MN��G ������ ����� 2�� O �=1 ��I ���D��KLI ��!� F1 
���C� ��!D� P-+A� >���5�� %Q 2B8 �5�6�� ��	�"�� .  

 ������2� ��;�R�� S T���� (59a) ���� $����+�� U.�V S W-5@� ����� X�' �Y ����+�� �I ���Ms . S ��.�V ���� �Z ���@� �I %Q
 WR	@�$[� . $�Z�9� �\8 ]N����tij�+� S ���� ^�� ����+.� �_,�`��  �Z!R��	 ;�?�� ��.�V $���tij = t + τj + (i − 1)/Ns  a-,τj �G 

 >��+�� ��bj) τ1=
 0( .  

4  � ������� 	
�� � 
������ ����� �����
 ������� ���
����� ������  

*
���� N�� lO CS�� i i����� � j ;��#����� )43a ( -�)59b .( V(��� lO ���6 �	,-θij N�"����� *
���� �AJ 
 ��#����(49). ��#���� 3S�
 �"?!� (44) �_���� rijV�D� j�(� ;�- `?!� �2W�)��  . ��!Q��6q� 3B �/��� 0!>�� @AB ��	
-
 �!
S>��)rijv θijv ϕij .(  

 V(��� lO �� �?M(�_� �:&-) �(	�� �+= � c\����?m� �7)+= � c���- ��"<�� ( ������� ����� �S~ N�S�� lO-
 �� *O������ �(QR���θf- ϕfv  v������ C2$ ����� �Sz `!_ L
+
 �} C2$ @/$� ����A�� �!
S>�� ��!Q��6q� *��� �	,

 V(��� lO � �������°0-  N�S�� lO°0 . C2$ �S~� N�� lO Iw-� 4M�� �A�-°0 . ����m� ��!Q��6q� �Aa�?$ ��	�_
 N�S�� lO C2$ ������� ������� ����� �Sz %& I�
�= *
��2�°0 �!
S>�� ��!Q��6q� 3B )rij vθijv ϕijfϕf ( N#��
 G��

�!����� �������� ��!Q��6q� :  
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(60a) )(coscos fijijijrx ϕ−ϕ⋅θ⋅=  

(60b) )(sincos fijijijry ϕ−ϕ⋅θ⋅=  

(60c) ijijrz θ⋅= sin  

�\�# ()W C2$ ������� ����� �Sz V($ lO 4M�� � .q� CS�
- ����m� �������� ��!Q��6)x1vy1 v z1 ( %& I�
�= *
��2�
 V(��� lO C2$ ������� ������� ����� �Sz°0�!����� �u!+�� �  :  

(61a) ff zxx θ⋅+θ⋅= sincos1  

(61b) yy =1  

(61c) ff zxz θ⋅+θ⋅−= cossin1  

 s�)
�w� ���-5 CS�
- εs0
 

 h"���-γs )�$���� ���>$ @��� k)= � N�"<�� �� ��!>��( �Sz �� 3a(�� *
���� %& I�
�= 
������ (p� [�n)�� � ��<�=w� |-(t � ������� ����� :  

(62a) 














+

−=ε
2
1

2
1

1
0 arctan

zy

rx
e

s
 

 







=γ

1

1
arctan

z

y

s
 for z1 > 0 

(62b) π+







=γ

1

1
arctan

z

y

s
for z1 < 0 

 �!6re i-��
- V�D� (S� �+= �"!� l���� 3B km 6 370 .  
�AB �w#��� �� �6/�- 0�>�� �K2�� � �J �2��>�� �w#���� �_�	
 1�!W���� @Ar  .  

5  ��� ������� �	
�� �
��� ���� �� ������ 
�������������
���   

 �!W���� %& s�\(�� �	,ITU-R F.1333�� ���� �!=�	�& ���K�� *
�� �!2�)�� `$�)
�� ��-�5- εs ��$�(� 4� `���� N�6 � 
i�m� ���	=w� �(B�� . i-�j�� �$�
��� ���6 Aa�?$ �	,-SA ����� 3a��J �!�!a(�� ��jp� @��� %& I�#�?��� k!>�� 

 N�"����� ��������!����� ��/��� :  
(63) )sinsin)(coscos(cosarccos fsfsfsSA ε⋅ε+γ−γ⋅ε⋅ε=  

 �!6 εf-  γf h"���- s�)
�w� ���-�5 �� )�$���� ���>$ @��� k)= � N�"<�� �� ����!>� ( �!�!a(�� ��jp� %& I�
�=
������� ����� 3a��J .�� @��� � ������� ����� 3a��B c�� ���� i-�j�� �$�
��� �AB L!��-*
��I�>_-  �!W��2�   

ITU-R F.12453B��w� 3a��J� ���6 �  . i-�j�� �$�
��� �{_ 3$�S>�� -� @��w� *��t 3a��J� ���6 � ���SA i-���  
 | εs – εf

 

|v�� @��� � ������� ����� 3a��B c�� ���6 3u
?� *
�� �!W��2� I�>_- ITU-R F.1336 .  
�� ����1� ������� 	�
���� 
�� ITU-R SF.1395 �� ITU-R F.1404 � 	�� ���� ���� ������� 
� ���� !"�#$ %&� '�#( 

)*���+�,�� ��
-� .�/0 � .1$�
��� 2� . 45 ���67� 
�� !"�89:� .������� �;��<�* � =�� .�>>?��� .�&�/� � ������� �9� @�� ��5�

�������ITU-R P.676 .  
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6  ���� ����!�� "
�#$ "%&	��&�&  

2� i����� �-��� �7!_ i-��� w G�� ���p� �� �K2�� �AB � �#����� �!2!2K��� �>�(S�� �!)
*
�� ��� �� �K!KW �
�= 
 ��	
- vV�D� ���-# ���#�� N�� lO N�"�6� �_���*
�� x��� � �"8�?� 0-2π . ��-�5 N�"�6� �_��� ���# �� �"�

 o!np�u� � I�n�� Z�8�=�� �$5��  x��0-2πi(a���� ����� ���6 �  . �- x(O� �!6�= ��- w 3U2!2Bq� ����� ���6
 �(>)�� � #�z �B �"� ��j�� ��w�� #�K�
 �7?	�- Z�8�=�� �$5�� o!np� ��-�5 ��	
3.3 *
�� #�\- N�"�6� c��?��- 

 ��j�� *W�)�� �)t� dt+t(  �"!>�� 4�dt . ��#���� L!�
-)49 ( lO ���6�� V($*
��o!np� ��-�5 ��w��  . ������-
 N�"�6w� �_��� ���# ��
�$� �	,�*
���� N�� lO N�"�6� �_��� ���# �$ I��2>��� *
���� V($ l. Z�>
 �� ��$�(� 4�- 

 �(>)�� � #�- �"� �!2!2� �>�(S� 3�\(�� *
���� 4��� ���� �	,4.3 .  

���� ��!M()��� �!>��� N�6 � 3)	�- �(>)�� � �#�1 4M�� 08�?� 4�5�
 V�(�_� v)I�!?�5 ( *W�)�� � 3�\(�� *
����  
0 ≤ t < 1/Ns

 

 `��� lb 08�?�� 4�5���� 9�A�-ϕ *W�)�� � 0 ≤ ϕ < 2π/Ms . �2��>�� o!np� ��-�5 ��?
-u(t) N�"����� 
 ��#����(54) .� k)?� x(OD� *
����� 4���� C2$ ���7�� N�+p� �	,-3�\(�� *
���� 4��� ��w�� �
��	� .  

 �?!�� �!2O � *O���2� �W�O �!���6 h86�� �� �:&-)�� 4� i-�5 �$�

 *�� ��� �:& x(O� ���
��*
��� �� �#� �!a(�� 
�?!�� �
�$ ( �!2�� @AB 0!�>
 �Aa�?$ ��K���) � ��/��-��-� ( 0!!>
 *\� �� (uW� ��/O %&'#� �>�(S� *O����� v

 0!�>��� ��	� �!���p� Z�$ N�6 � *��>���-%&�¡ �d (uW� ��/O  . �>�(S�� �!���_ ¢�O *	<� 5j�
 ���B �S>= @AB-
���K2� ��2S�� h���� �!6 �� �!2!2K��� . i� �� ��	� s(�� �£� C2$ �!2!2K��� �>�(S�� �B�
 �� 3u
?� 9�: C2$ ¤[�?�-

��z �>�(�� ��# [�S$q ��#�$ ����p� � �2Q�� . ��/�� �7!_ �P *O���2� ����p� ��/�� #�$ ��� �:& N���� *!
� C2$-
 i-��� ��-� �%10]K)�� s�M�� ��/�� s�"¡ �� v ���K2� Z5/�� h���� ��	� 10/1I�
�(>
  .  
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 �������1 

��	�
 � 7 

 

 �
���� � ��� �� ����� ������3.3 �	��� �� 7  

l!�

 �	, ��#���� �����6 )50 ( �(>)�� � �#�����3.3 �K2�� �� 7 ��#���� *��	
 ���6 c?� 4� (52) C2$ 9�:- 
����� �K?�� .  

 0�� �u��� *��� Iw-�u ��#���� � (47) �u�� %& s������  :  

(64) 
2

0

1

)( cos1

)(cos1

1

e

sse

ue −
−⋅−=

ω−⋅+
 

 �!6u=0  N#��
s=0  #�� ������-s0 V�(�_�� @�=#� 0 ≤ ω < 2π:   

(65a) 








ω⋅+
ω+=

cos1

cos
 arccos0

e

e

s for 0 ≤ ω < π  

(65b) 








ω⋅+
ω+−π=

cos1

cos
 arccos2

e

e

for π ≤ ω < 2π  

 ���# �?B #�K�
-arccos (x) *W�)�� � )π v0( ��	
- s0
 

 ;��#���� c�6 )65a (-)65b ( �"!>2� ����j�� ���#ω . V(�)�-
 ��(�
 �!=�	�& x(O� �!6�= ��u� ���# �£R�  �"!>� ����j�s)  i�du/ds > 0 ( �$ �
���� �	,-du/ds ��#���� c�6 )64 (

����� �K?�� C2$ �����p� o�� [�(\& ��� :  

(66) 
)(cos1

1

d

d

0

2

sse

e

s

u

−⋅−
−

=
 

 ����#���� h��
��� �:&-(64) -(66)  ;��#�����(47)- (50) �K2�� �� 7�!����� ��/��� ��?
  :  

(67) ( ) tssse

s

=−⋅−
π ∫

0

0 d)(cos1
2

1
 

 ��#���� L
+
 (��D� �p� *��	
 ���-(67)������  :  
(68) 00 sin2)(sin setsses ⋅+π=−⋅−

 

 (2
!� ��#��� �� �u�� 3B �!������ ��#���� @AB-) �� �6/=2πt�� l���� C"�
 <- :-A� ��(8?� #�K�
 w (2
!� ��#��� �
 %& �
�?��� �w& �!�(p�s0 = 0 .( �
�?��� ����"!>�� %& t (0 ≤ t < 1)  �"!>�� ���6 ���7�� �	,s (0 ≤ s < 2π)  �>K�
 G��

 ��#���� ��)68 (�
�!= �>�(� N�"�����f 32� �� [�(\{� ���_��)(8=� �86/�� 1 .(  
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 �!
�(>��� �!�-D� �"!>�� ���6 �	,-s
(0)  �"!>2� s��/���� :  

(69) 0
)0(

sin2 sets ⋅+π=
 

 �"!>�� c�� �ν�� ��(> �"!>� �!
s 

(ν)�u!+���  :  

(70) 
)(

)(

)1(

)1(
)1()(

−ν

−ν
−νν

′
−=

sf

sf
ss (ν  = 1, 2, 3, …) 

�7!_- :  

(71) 
)(cos1)(

sin2)(sin)(

0

00

ssesf

setssessf

−⋅−=′
⋅−π−−⋅−=

 

 �� �6/=f '(s) �>�<�� C2$ N�
 f (s) .��	�- ���>
 s 

(ν) �"!>2� �>!�# �"!� �� s �����p� [�(\& ���  ����(	���
 ;��#���� Z��1����(70)- (71)I��\ 4�(�  .  

 �"!>�� #�K�
-u �"!>2� �2��>�� s �� ��$�(� 4� ����� �K?�� C2$ u �u�"2� ����j�� ���# 3B  s:  
(72a) au +π−ω= 2   for –2π < s – s0 < –π 

(72b) a−ω=   for  –π ≤ s – s0 < 0 

(72c) a+ω=   for   0 ≤ s – s0 < π 

(72d) a–2π+ω=   for   π ≤ s – s0 < 2π 

��	� ������-:  

(72e)  








−⋅−
−−=

)(cos1

)(cos
arccos

0

0

sse

ess

a

 

 ���6 �	"�� ��-uk  ¥� �2��>�� tk
 

 ��#���� � �#�~�(51) �K2�� �� 7 ¥� �#�z �d �"!>� 9�:- k (k = 0, 1, 2, ..., N) 

(u0 = 0) .  
 �"!� ���6 �	,-u(t) 2��>�� ¥� �t 
�(>
 *	<�¥����� �K?�� C2$ 3 :  

(73) u(t) = N [(tk+1 – t) ⋅ uk + (t – tk) ⋅ uk+1] 

 4�tk ≤ t < tk+1 ) �:&t ≥ 1 ?$ V����� �� 3u
?��¥� i-����� Z�$ (tk ≤ t – 1 < tk+1   ��#���� 3S�
-(73) ��	
 ���?$ 
 �"!>��N �X�� ��>� ��
�)  *��N = 10 000 (� �>!�# �"!�¥ u(t) h���� ��w��  .  

 �(>)�� �>�(� 4� *!�A��� �AB � �#����� ���p� �>�(� ¦_�	
 ����p� C2$ h�(\� �����6 ���� ��-3.3 ��   
 �K2��7.  

�� ����1������ ��	
� �
� � ���� ��� �	
�� 
��
� ������� ������� �� !"����� #��	 $%&'( )*"���� #�
+�"t � s0��� #( �,	
-  #e 
 �� ��(0,81 . /
0�� �12 �� 3�4��� ��5�678������� 9���:,��� ;�
<8  . ��*���� �� !�=� �� �:
� >�� �?@ ���(68) ����� e $AB( 

����� ��	
� *���'� CD' E�,�� )F�B( ��	
� G��H+�I��	
� I�J"��� ��K	 �L CD' ��F��� #�
+�" .M�� ��:� CD' ��	
� F�J ���+ *
�� N�
)�P'�K�� ��F��J 9�J�
Q� ��R S�
=@ TU:�	 .(  

 �����1: ��#���� �_- ���p� [�(\& �� Iw�� (70) ��!�O� Iw-� 0�� vλ = 1 c�§- s 

(ν) �26(�� � 2.  



46     �������ITU-R F.1108-4 

 �����2:���6 :  

(74) 
( )

( ))1(

)1(
)1()(

−ν

−ν
−νν

′

⋅λ
−=

sf

sf
ss   

 �����3:h=�� �:&  f (s 

(ν)) <10–12I/��� ���p� [�£& ��� v)  E2

 �� ��� i�s 

(ν)�X�� ��>� �>!�# �"!�  .( h=�� �:& ���
| f (s 

(ν)) < | f (s 

(ν–)) | #��= ��S�� %& 1  ¥� �!����� �"!>�� ���6 [�(\q ν.h=�� �:&-  | f (s 

(ν)) | ≥ | f (s 

(ν–)) | 0�� v
 0!�>
λ C2$ 2 ��S�� %& �#���� � 2���p� �#-��� *\� ��  .  

�(S�� �& 0!>�� 4!"m ��\�= @/$� ���>�� ������ �>e %& Iw�W- 0,999.  

�������  2 

�	�
	 � 7  
 

 � 
������ ��	�	
��� ������� ����� �
	��7   

 ���� �� �����!" 
������ #$ ������� %&��& ���$�  

 ��'	�	()� 
���* +����, -�.��� /��(HEO)  

��� �d �!2
���� ��	
<�� j!"�
 ������ Z�1��
 G�� V�D� %& �
�?��� �(>�HEO����� �K?�� C2$  . ��j� I���"$ V(�)�
 *
����� �� l!�
��� ��HEO *7��� �� ��� ��- ¨6 �!M�D� �(	�� 3)+= �� �6�- �+= � �w& �-�
 w �S!<?�� 

 *
����� ���6 %& �>�(S�� �!
S
 '�S= 4!��
HEO3)+= � �-�
 G�� �S!<?�� �!M�D� �(	��  :  
f   #�\- V(�)�Msg�!M�D� �(	�� 3)+= �6� � �!2
�� �
���   
f   #�$ C2$ �!2
�� �
��� *� i���Ns^ ���?$- g�?!�� �8p � `\-� �(� I�S!<= l>_ �B�6� ��	� I/
��  �"

  �D� C2$ l!<= *
�� l>�� �R� 02��� 4� �2W����� �!Su��� �"n� �� (O© *
�� l<?� *
��*Q�� V l>�� 
  g`>
� iA�� l!<?�� *
����  

f   i����� �-��� ;� �!M��� ��/$ �\�
Torb) ��$����� I���>�( V�D� ��-# ���- �� *
��� v) I���"$8 -� 12 -� 
  16 -� 24I�
�(>
 �$�� (g  

f  g*
����� 4!T � �7�)= 3B *!�� ��-�5  
f   o!np� ��-�5(ω)*
����� 4!T � �7�)= 3B  .  

 ���6 � �	"�� ���"8=� *
��� HEO���O ���?� ��$ � ����O �_�
 C2$ ��#�� ��6�- �
��� ��	
 ��  . I/�"_
 i����� �-��� ��	� ���?$8 ���?� �/�� ����O �
��	�� (_�
 I�
�(>
 ��$��  �)2�ªV�D� LS� C2$ . `=� �d

���!>
 V�(dD ��K ��[�+6q� C2$ 0a�>�� �/O����� 0! ���?�� @AB �� V�(�_�� ��6 C2$ *� ���?�� @AB «��
 ��
�>S?� *� *u<� I�S!<= I��6�- I/
�� ��- (O¬� o�
�� �$ �7n�� �2>��� �/��� .  
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 *
����� *u<
 ­ �:& I���"$-HEO ��-�j�� ��	
 ��"<�� �!M�D� �(	�� �+= � w& �S!<?�� ω = – π/2 ) -�ω = 3π/2 (
& �"?!� v���#�� ��-�j�� ��	
 ��?m� �(	�� �+= � h2ut �:ω = π/2 ���#��  . �(	�� 3)+= � *
����� *!u<
 N�6 �-

 ��-�j2� ���"!>�� ��
�B *"���
 �!M�D�ω . �d x(O� 0!� N�"���� �� �"�± π/2 ��-�j2� ω�W�O ��>!
S�� �	�  .  
 *
���� ;� �_���� #�K�
-HEOA�� E!+�� � V�D� j�(�-  �(>)�� � ����1.3 �K2�� �� 7 . *
�� ��-�5 #�K�
-HEO 

 h���� ��w�� l!<=t ��� 0 ≤ t < 1 ) i-��� i����� �-��� �� �?B V(�)�1����12� �!��"��� o�(�
 �-#  ( Z��1����
 �(>)�� E!W3.3 �K2�� �� 7 �(>)�� E!W Z�1��
 G�� 2.3���A�� �K2�� ��  .(>)�� �����6 �� �6/�- ;
2.3 - 3.3 

 �� I�!?"M V(�)
 ;
���A��u = 0 �8p � t = 0 �!M(_ �"?!� vu = ω �8p � t = 0 /� (���[ c���� ���6 � ��
��*
��� HEO . ��#���� #��-(49) �K2�� � 7*
���� V($ lO  .  

 *
�� ��!�O� 0��-HEOI�!�\(� I/
�� @��
�$�� l!<=  . h���� 5-�U�� w ���?$-Torb ��� 24 ��S�� [�� �8p CS�
 �$�� 
 l!<?��Tstart l!<?�� ��S�� ���£ �8p- vTend ;��#���� � l!<?�� *
���� �AJ 75a)(

 

-
 

75b) ( V�(�_��-) o�(�
 �-#
����12� �!��"��� ( �?$ o!np� � �\���� *
���� ��- ��6��� i-��� i����� �-��� ��t = 0:  

(75a)  (Tstart ≥ 0)Tstart = 0.5 – 12/(Ns · Torb) 

(75b)  (Tend < 1)Tend = 0.5 + 12/(Ns · Torb) 

 ����#���� V(�)
75b)(
 

-75a) (�� ��*
��Y-D� 4� ��(��?
 �S!<?�� ®�>�� ��- Y-D� �� `��(��� �?$ l!<=  . �:& vN���
 h=��Ns = 3 - Torb = 12 �$��- Tstart = 1/6- Tend = 5/6)l!<?�� ��S�� ��� 8��$��  ( h=�� �:&-Ns = 5-  Torb = 8 

- ��$�� Tstart = 0,2-  Tend = 0,8) l!<?�� �-��� ���4,8��  .( *���
 Aa�?$ 3u
?!_ ��(��?
 �S!<?�� ®�>�� �	
 ­ �:& ���
 ;��#����75a)(

 

-75b).(  
 ��-�j�� ���� �	,u(t)2� *
�� �?!�� �8p � 3�\(�� t (0 ≤ t < 1) �� *W�)�� ��j�� (Tstart, Tend) ��#���� N�"����� (54) 
 �K2�� � �#�����7 �� ���p� @AB � V(�)�- u0 = ω )i� uN = ω + 2π .(  

�� c���	�� �� #�$ *!u<
 �?$-2
�� �� ��	� v*
����� ;� 08�?� �$�

 C2$ �8_�~� 4� �!M�D� �(	�� 3)+= �6� � �!
�� 4!T 4���� ���� ��!��*
����S!<?��  . *
����� 4!T ����� �� V�(�_� 0��>��� �����# %& �
�?��� 3)	� Z�"����-

�2Q�"�� �S!<?�� .�����p� � ���7�� ���$�(� �	, c���	�� ;� ��S�� � '-(_ #�\- N�6 �- .  
 C$�(
 0!>�� @AB �{_ �!2�_ �$�

 0!� �#��- I��6�� *
����� ;� �$�
��� �	� ­ �:& ��������p� � L!KW *	<� .  

*
����� 4!T 4���� ���� ���-!>
 �	, v�?!�� �8p � �S!<?��  � �!a(�� *
����� 4!T `

�
 iA�� 3"��(��� *O����� 0!
 ;
(>)�� � �#����� �>�(S�� c\�P ������� ����� �Sz4- 5 �K2�� �� 7.  

;� �
� ���

 #�\- %& ���tq� ��� I��O�- �K2�� � �#����� �!2!2K��� �>�(S�� 7*!�A��� �AB �7M(�� G�� �>�(S��-  . 3)_
 �K2��7>� �! *
���� V($ lO l

(� �"?!� �/>��� *
��2� N�S��- V(��� 3SO �� V�(�_� 4� �!2!2� �>�(S� *O����� 0

��� lb` *
����� ���6 � HEO*!�A��� �AB � ������� s�M��  .� ;��� �A� �8p � *
��2� N�S��- V(��� 3SO ���
*!�A��� �AB c�6 �?!�� .>
 3)	� `=� �d! � 0B��� �� v*
����� ��(6 ��-#� Z�8�=� c
�� �6�- �-# � *O����� 0!

���K2� Z5/�� h���� ]!2>
 .  
 Z�7)� �
S?� w x(O� �!6�= ��-"����p� ���?�� " �(>)�� � #�����4.3 �K2�� �� 7C2$  �7��>� G�� �!2!2K��� �>�(S�� 

*!�A��� �AB .!>
 0��-"8=� � *O����� 0!�(�_�� ������� ����� s�?� V� �_��� pfd �w���q� #-�- ��-�5 C2$ ����� 0a/� 
 *
����� �7U�?
 G��HEO�S!<?�� .  
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